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The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) Girls Enrolled (Out of 3500)
Basketball 16% 14 %
Soccer 21% 28%
Badmmton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the number of boys who are enrolled in the game Basketball ?

(1) 805
(2) 430
(3) 840
) 470

Question Number : 2 Question Id : 5330722521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of girls and the number of boys who are enrolled in the
game of Tennis ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Cricket is approximately % more than the number
of students who are enrolled in Badminton.

(1) 21.79

(2) 22.71

(3) 23.81

(4) 25.91

Question Number : 4 Question Id : 5330722523 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Soccer is % of the number of boys who are enrolled
in all the five sports games.

(1) 10.2

(2} 11r2

&y 122

(4) 13.2

Question Number : S Question Id : 5330722524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many boys are enrolled in Soccer and Tennis together ?

(1) 610
() 640
(B) 720
@) 710

Question Id : 5330722519 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

e arferem ® ek formera ® 202223 99 F SWA aRehedd, Feard, defied, fhhe ot e
ATF Yie STAT-STe Well § AWifha foafedal (sers 9 aifeerd) @i 9& 9 aifeenisii @ §&1 #6
ferr( %) feraor giien e ¥ Ternera # %@ 6000 fomnefl & e @eli | Amifea € o | anfeemsti =t
T&AT 3500 T | iR H YEd BT % SNUR W, 3T I8 T4 W & 3T ST |

oo™ ¥ faenfet =1 @a-ar AmieEA

yferera faazor
FeT srATfasa faameff (6000 # &) | @wifda aiferast (3500 7 )
TR-GCaTe 16% 14%
peaTel 21% 28%
Ssffiest 14% 16%
F¥e 29% 20%
e 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATEhREATe o Wl H AWifehd STeiehl i G &1 § ?

(1) 805
(2) 430
(3) 840
4) 470
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Question Number : 2 Question Id : 5330722521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & @a # Tmifera anfereristi ®1 S 3R aetehi 1 S o sia o R =1 e ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forepe o Amifera a1 dem Sefhe | Amifewa faenfert = g & e % HIEF T |
1) 21.79
@ 22.71
(3) 23.81
4) 25.91

Question Number : 4 Question Id : 5330722523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FedTed H AHifET o] i G g o well § A SerR i H5en i % ¥
1 10.2
@ 11.2
@) 122
4) 13.2

Question Number : 5 Question Id : 5330722524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feara i ey # faete fore wrere amiferd € 2

(1) 610

(2) 640

() 720

(4) 710
Sub-Section Number : 2
Sub-Section Id : 533072104
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330722525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'I never teach my pupils; I only attempt to provide the conditions in which they can learn’ is a
statement by :

(1) Swami Vivekananda

(2) Albert Einstein

(3) Sri Aurbindo

(4) Aristotle
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Question Number : 6 Question Id : 5330722525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B o BTE T off ver T 7, § how UE uRffaat Suers e § e 3 O 99 -9 e
frefafas sfm #F1 ¢ :

(1) @ fagsHs
(2) e FEEH
(3) f sRfer<

(4) SHF

Question Number : 7 Question Id : 5330722526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of learning, which of the following DOES NOT represent the self concept ?
) It is what an individual feels about others.

(2) Itis what an individual feels how others think/perceive of him/her.

(3) Itis an awareness of the individual about his/her strengths.

(4) It is an awareness of the individual about his/her weaknesses.

Question Number : 7 Question Id : 5330722526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st & ded # fefafga § € Sa-—a  stren sraamon’ =5 gfafafie 1@ e ?

(1) Tore =afed gR0 S84 3 9 Hegd 1 T 96 |

(2) T oafaa gro sgF o A gl g e e /g 7 o |
(3) T&d T/ IO /emared % IR H ot wafa o Stee |
(4) = F FHSAA & IR H FHH =t F S |

Question Number : 8 Question Id : 5330722527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represent characteristics of teaching ?
(A) To provide guidance and training to students

(B) Interaction between authorities

(C) To provide formal and informal education

(D) An art to import knowledge to students in an effective way

(E) To prepare policies for corporate bodies

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (A), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (O, (D) and (E) Only

Question Number : 8 Question Id : 5330722527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafas o & SH-df fodmars fasro =1 wd gfafafes = € 2
(A) B o AFTEYF IR gferaon <

(B) WIfH=RIEl & &= Harg

(C)  sfrorenfiar R arerg=niier fo1en gem &
(D) BTl I GATE 1 H JH UM FA Hl Fell
(B) wdie frarrai & fore wiifearl Sam s
= feu o fased § 9 Qe W F T4 HIAC ;
(1) e (A) TR (B)

(2) = (A), (D) &R (E)

(3) &= (A), (C) 3R (D)

(4) = (O), (D) ¥R (E)

Question Number : 9 Question Id : 5330722528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Learning style) (Characteristic)
A) Converger I They are best at concrete experience and reflective observation.
& ey P

Their strength is their i_magi_m:ltive abi_lity They tend to be
interested in penple and emotonal elements.

(B) Diverger (Il) They are good at Abstract Conceptualization and Active
Experimentation like solving problems; practical application of
ideas.

(C) Assimilator (IlI) They enjoy and seek new experiences and adopt to new

situations; and are intuitive, risk-takers open minded.

(D) Accomodator (IV) Ability to create theoretical models; possess sound logic,
inductive reasoning, Analytic less interested in people.

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IID), (C)-(II), (D)-(I)
(2)  (A)-(), (B)-(ID), (O)-(1), (D)-(1V)
(3)  (A)-(1D), (B)-(I), (C)(IV), (D)-(III)
4 (A)-1), (B}(ID), (O)~), (D)-(IV)

Question Number : 9 Question Id : 5330722528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11
( 3fermm ( afurereroT )
(A) TS () 329 sryEl SR femaeie Garoi & fore wataw g 1 39 ufsa
FTH] FEGARIST il AFGAT | T 9 S SR WraHraTes aol J s
T g |
(B) ETHESR () o oTod Hyciem 3R 9w TEr S8 auemel o gEeE o,
forami o =Eeris ST § o7 B B
(C) reqETasal (L)) & 9T TS FTd & S ITH 378 o & AR 72 gftfeefadi & stqga
T M 2; St 2 g, Sifem e € ol wer femm arct 2 #
(D) THwE (IV) =79 Sgifcsk AiSTl &1 o1 HA T &0 Bl ¢ 19 deh YIfaR gl €
FTHATCH: Toh I 21t ¢, & faveror e aret 2ra § o ot 3 %9
4 ww@Ed 2
v feu o fawmedi § | WE I F =TI FIfAU
(1) (AHIV), (B)-(LID), (O)-(11), (D)-(I)
(2) (A)-(Im), (B)«(ID), (©)-1), (D)-(IV)
(3) (A1, (B)-(I), (O)-(IV), (D)~(I0)
(4)  (AHD), (By-(IT), (O-(Im), (D)-(IV)

uestion Number : 10 Question Id : 5330722529 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i

(
(
(
(

Q

Education is the manifestation of perfectio:n a]_ready mn man” is a statement by :

1) Rabindranath Tagore

2y M.K. Gandhi

3)  Sri Aurobindo

4) Swami Vivekananda

uestion Number : 10 Question Id : 5330722529 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

]

(
(
(
(

Q
C

“foreat, W H vESt @ A feem ol B Yok 8 Foreiferfian # @ for st o e 2

1) =T 2R

2)  THE. T

3) ot afa=

4) @ faeEHe

uestion Number : 11 Question Id : 5330722530 Question Type : MCQ Option Shuffling : No

orrect Marks : 2 Wrong Marks : 0
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Survey research on a single, case with a view to revealing important features about its nature,

corresponds to which of the [nllowi_ng research designs ?
(1) Cross - sectional

(2) Longitudinal
(3) Case study
(4) Comparative

Question Number : 11 Question Id : 5330722530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot wehet W () # 3H@ Uohfa Hadt Hemyul sfieremii @1 3SR #A #1 gfe 9 foean s aren

e vy = § § 9 ¥ Wy oifiehed & guey €2
(1) gfafeaTeass

2 oA
(3) RO HAETH
{4) qefrcHsh

Question Number : 12 Question Id : 5330722531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the I‘D]lDWi.ng is concerned with the question whether the measure of a concept truly

represents that concept ?
(1) internal validity

(2) external validity
(3) construct validity
(4) transferability

Question Number : 12 Question Id : 5330722531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 % 9 [ 39 7§ Heitua € for 5 Tt deheamn =1 A9 9 wraa o Se Heheu 1 Wittt s

€7

(1)  safteR e
(2) @ o

(3) TafHa Sz
(4)  SFariaa

Question Number : 13 Question Id : 5330722532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the data sets with following pairs of mean (x)and standard direction () in increasing

order of their coefficient of variation.
(A) a=50o=12

(B)
(©)

=550c=10

= |

= |

=60,0=14

@) x=70,0=15
Choose the correct answer from the options given below :
(1) (A), (B) (©), (D)
(2) (B), (D) (Q), (A)
(3) (©. (D) (A), (B)
(49) (D) (B) (A) (Q)

Question Number : 13 Question Id : 5330722532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl ¥ % WA (x) 9 HEe foEer (o) It R Il el SR YR e % wed 3 H erattem
Hifer ;

(AY x=500=12

(B)
(©)

=55 0c=10

=1

= |

=60,0c=14

(DY x=70,0="15
= feu o fawedi 9 Qi I F1 =T FfST
(1) (A), (B) (C), (D)
(2) (B), (D) (©), (A)
3) (©), (D) (A), (B)
(4) (D), (B) (A), (©)

Question Number : 14 Question Id : 5330722533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on plagiarism, a student’s registration in the Ph.D. Program
will be cancelled for which of the fD]lDwi_ng similarities percentage in the thesis ?

(A) 37%

(B) 46%
(C) 58%
(D) 62%
(E) 78%

Choose the correct answer from the options given below :
(1) (A), (B) (O), (D) Only

@ (®), (© (D), (E) Only

(3) (), (D) and (E) Only

(4) (D) and (E) Only

Question Number : 14 Question Id : 5330722533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uifeferes =k Fast 350490 faftem 2018 % STER Rl 9. 0=, Fedsn & foaenef &1 gsiewon 39s
e gay 3 = § | fopan wiosra gwmar & s 1§ fman s ?

(A) 37%
(B) 46%
(C) 58%
(D) 62%
() 78%

= fau o faredi § 9 Qe IR 1 999 FIfE
(1) FEe (A), (B) (C) &R (D)

(2) FF (B), (O) (D) 3R (E)
(3) = (C), (D) 3R (E)
(4) HF (D) 3T (E)

Question Number : 15 Question Id : 5330722534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Type of variable) (Example)
(A) Nominal (I) Distance
(B) Ordinal (I1) Marital status
(C) Interval (IlI) Movie ratings
(D) Ratio (IV) Location of places in Latitude degrees

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (©)-(1), (D)-(IV)

@ (A1), (B)-(11), (©)-@), (D)-1V)
() (A, (B)-(1V), (O)-(11), (D)-()
@) (A1), (B)-(1), (©)-1V), (D)-(1)
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Question Number : 15 Question Id : 5330722534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
Tt - 1 et - 11

(X F USHT) ( 3erET )
(A) TR o T
(B) THHIIF (I) =efess =i
(C) sHauafy (1) =rf= e
(D) =9 (IV) =3eqie feait | i &l farefa

= fau o faskedi # @ W&t IW /T HTAC
(1) (A)-(), (B)-(1D), (O)-1), (D)-(1V)
(2 (A)-(D), (B)-(ID, (C)-1), (D)-(IV)
(3) (A, (B)-(IV), (O)-(ID), (D)-()
(4) (A1), (B)-(LID), (C)-V), (D)-()

Question Number : 16 Question Id : 5330722535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Devarshi Narada is treated as the first communicator, because :

(1) He always speaks against the others.

(2)

(3) He is not everywhere everytime.
)

(4) He is faithful to his lord.

Question Number : 16 Question Id : 5330722535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< ARE T g HERE THT 5§, i

(1) © oW SHY * fEgers =o€ |

(2) 9 TARIE 9 de €, UaTehRRI o s Heaee] T © SR WuTe & aeadl # foae @ wmw
(3) YT HHY W M W HSE T @

(4) 9 319 W F Ufd TEER & € |

Question Number : 17 Question Id : 5330722536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the Printing process ?

(1) G.Marconi

(2) Tang Dynasty

(3) William Caxton

(4) Johannes Gutenberg

Question Number : 17 Question Id : 5330722536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeU U9 1 =90 e fran o ?
(1) i, HERTH

(2) @ SEARRL

(3) Tafeaw wage

(4) Sierg A

Question Number : 18 Question Id : 5330722537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the following types of communication in proper sequence :
(A) Group

(B) Public

(C) Mass communication

(D) Intrapersonal

(E) Interpersonal

Choose the correct answer from the options given below :
(1) (D), (E) (A), (B) and (C)

(2) (E), (D) (O), (B) and (A)

(3) (&), (B) (©), (E) and (D)

(4)  (B), (A) (©), (D) and (E)

Question Number : 18 Question Id : 5330722537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HaR o frforfaa gerl =i sfEa s § fofa .

(A) HIE

(B) WIESIE

(C) M =R

(D) gt
(E) erdafdas

e feu o foreredl & 9 T S = FE
1 O E (A) B R (O

2) (B), D) (©), (B) AR (A)
(3) (A), (B) (O, (E) ¥R (D)
4) (B), (A) (O, (D) 3R (E)

Question Number : 19 Question Id : 5330722538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who sends what to whom in a communication process ?
(A) Channel sends the message to sender.

(B) Sender sends messages to receiver.

(C) Sender sends the feedback receiver.

(D) Receiver sends messages to sender.

Choose the correct answer from the options given below :
(1) (A) Only

() (B) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Question Number : 19 Question Id : 5330722538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R giswar | H g = s ® 2

(A) =, Y9 ] HQ9 Al & |

(B) e, Wriehdl I HeW ST € |

(C) e, wraekal 1 Ffagfiz (Hise) G T
(D) WTeshdl, YUk I GEw T ¥

= fou u foeredi # 9 & IW 1 F9H AT -

(1) I (A)
(2) eI (B)
(3) FE (A) ¥R (D)
(4) = (B) 2R (O)

Question Number : 20 Question Id : 5330722539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Communication terms) (Features)
(A) Effective verbal communication () Knowledge and skills
(B) Effective communication (II) Insufficient knowledge

(C) Effective non-verbal communication  (III) Effective speaking
(D) Barrier of communication (IV) Body language
Choose the correct answer from the options given below :

(1) (A)-D, (B)-I), (Q-IV), (D))

2) (A1), (B)-11), ©)-@), (D)-1V)
() (A)-(D), (B)-(D), (O)-(), (D)-(V)
4)  (A)-(I), (B)-(D), (O(1V), (D)1

Question Number : 20 Question Id : 5330722539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 196 |19 gt - 11 31 e wife |
et - 1 T - 11

(Hu e v ) ( fagrard )
(A) HuET wfeges Higm () TH R R
(B)  wEt Wy (I) 9t 99
(C) W TR-ynfagar Tomor () ST ®9 § S
(D) TER F 37elH (IV) Teka

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(IL), (O)-(1V), (D)-(11)
(2) (A, (B)-(I1D), (C)-(), (D)-(IV)
(3)  (A)-(D, (B)-(1), (C)-(IL), (D)-(IV)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 21 Question Id : 5330722540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘A’ takes twice as much time as ‘B’ to complete a work and ‘C’ does it in the same time as both ‘A’
and ‘B’ together do it. If all three of them work together and complete the work in 5 days, then the
time taken by ‘B’ to complete the work alone is :

(1) 12 days
(2) 14 days
(3) 15 days
(4) 18 days

Question Number : 21 Question Id : 5330722540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepeft =Te &1 90 T | ‘A7 1B’ H AT 99 ORTT € S C 59 I I Saq 994 H 90 o o € T
g A B 3 T frere 38 g e § 1 afe 9 o w fresm w e s feii d e an € A
=9 4 I TR T FA § B I TR wHg @i ?

1y 12f@=
(2) 14 fed
(3) 15 fea
(4) 18 f&m

Question Number : 22 Question Id : 5330722541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 persons consume 810 kg of food in 27 days. In how many days will 60 persons consume 300 kg
of food ?

(1) 12 days
(2) 13 days
(3) 15 days
(4) 18 days
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Question Number : 22 Question Id : 5330722541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 &I 810 Teredt it 27 feri ® Teu = €1 60 & forad foAl # 300 kg HISH &9 T ?
(1) 12fH F

(2 13fAid
(3) 15 fedi
(4) 18fcHi 7

Question Number : 23 Question Id : 5330722542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fraction in decreasing order :

12
A) 75
7
B 13
11
© 17
17
D) =5

Choose the correct answer from the options given below :
(1) @A), (B) (©), (D)
@ (©). A (D), (B)
(3)  (B), (O, (D), (A)
(4) (D) (A) (B), O

Question Number : 23 Question Id : 5330722542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et Tl 1 w28 5w 4 ot Y
12
A I
7
B =
11
€ =
17
1=

A fe o fased & | W& IW F T HC
(1) &), (B) (©), D)
(2 (©), (A) (D), (B)
(3)  (B), (©), (D), (A)
4) (D) (A) (B), ©)

Question Number : 24 Question Id : 5330722543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the number that occurs in the series 2, 10, 30, 68, 130, ....... A
(A) 738

(B) 349
(C) 520
(D) 222

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (O) and (D) Only
(3) (A), (C) and (D) Only
4) (A), (B) and (D) Only

Question Number : 24 Question Id : 5330722543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2, 10, 30, 68, 130, ........... H 37 9Tel 37! H1 Ted |

(A) 738
(B) 349
(C) 520
(D) 222

=1 feu T fomredl § § WeH Sugerd 3T T =TI HIN0

(1) eI (A), (B) 3R (O)
(2) = (B), (C) &R (D)
(3) = (A), (C) IR (D)
(4) A (A), (B) 3R (D)
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Question Number : 25 Question Id : 5330722544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - I1
(Word) (Unique Code)
(A) PRIME (I 69
(B) SIGHT (Im 72
(C) QUITE (III) 63
(D) RHYME (V) el

Choose the correct answer from the options given below :
(1) (A)HD), (B}-(II), (O)-(Im), (D)-(IV)
2 A1), (B)-(1), (©)-1V), (D)-1)
(3)  (A)-(1LV), (B)-(IIL), (C)~(11), (D)-(I)
(4)  (A)(II), (B)-(IV), (O)-(I), (D)-(IT)

Question Number : 25 Question Id : 5330722544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
et - 1 et - 11

== (Word) ( fgera 2 )
(A) PRIME @ 69
(B) SIGHT a 72
(C) QUITE ) 63
(D) RHYME 1) 61

A feu o faepedi & | W@ I = HS
(1) (ARD), (B)(L), (C)(I), (D)-(IV)
2 (AHID, B)-111), (C)-V), (D))
(3)  (A)-IV), (B)-(), (O)-(1D), (D)-()
(4) (A, (BA(IV), (CHD), (D)-(ID)

Question Number : 26 Question Id : 5330722545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred from the following ?

“Because x=3 and y =5, then x+y=8§"

Itisa:

(1) Deductive argument based on elimination

(2) Deductive argument based on Mathematics
(3) Inductive argument from Authority
(4) Inductive argument from Principle of Charity

Question Number : 26 Question Id : 5330722545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa & 1 STHHM @ S W € 7
“FGifH x=3 AR y=5T x+y=8"
TET

(1) =% faeme smenfa fFrmArTs o
(2) @8 iU seIid FeAmeHe a9 2|
(3) @& WIfHRRT & YT ANTHAH ek ¢ |
) eI o TaEia | W SARTHAHSE a9 © |

Question Number : 27 Question Id : 5330722546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a common pattern of Deductive Reasoning ?
(1) Hypothetical Syllogism

(2) Categorical Syllogism

(3) Argument from Definition

(4) Predictive Argument

Question Number : 27 Question Id : 5330722546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefaa & 4 Fm-a Frmares 9F & ame= ey (Yed) 79 € ?
(1) WTRRCTICHE =19 S

(2) freuier =m s

(3) O & 9T ah

(4)  wfoergEe 76

Question Number : 28 Question Id : 5330722547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can be claimed of Deductive argument correctly ?
(A) I the premises are true, then the conclusion is pmbably true.

(B) If the premises are true, then the conclusion must be true.

(C) It is unlikely for the premises to be true and the conclusion false.

(D) The conclusion follows necessarily from the premises.

(E) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (D) and (E) Only

(4) (A), (D) and (E) Only

Question Number : 28 Question Id : 5330722547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa § & s o % 9N § ®FE 96 T/ € 2

(A) AfE MR o Fe & o TRy Hyed: Jed 2 |

(B) Afg YR arR Hed € of ferd 1oy 9 2 |

(C) YR areEl & T B4 T2 T9RY &1 19 S 91: 999 el Bial |
(D) Trepd srframd w9 § R 9t | srfoe S e

(E) |l SN Skl o1 Sl el a2 e 31 79 €1 STHYE 2 |
= feu mu forredi § § W& 3T A =TI FHY

(1) e (A), (B) 3 ()

(2) & (A) 3R (C)
(3) @d (B), (D) i (E)
(4) HEA (A), (D) 3R (E)

Question Number : 29 Question Id : 5330722548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Concept) (Description)
(A) Statement (I) A statement in an argument that is intended to be proved or
supported by the premises
(B) Premise (II) A sentence that can be viewed as True or False
(€) Conclusion (ITlI) Group of statements intended to prove or support another
statement
(D)  Argument (IV) Reason why we should accept another statement or conclusion

Choose the correct answer from the options given below :
(1) (A)-(LD), (B)-(I), (C)-(L), (D)-(IV)
(2)  (A)-(1D), (B)-(IV), (O)-(I), (D)-(III)
(3)  (A)-IV), (B)-(I), (C)-(II), (D)-(I)
(4)  (A)-(1D), (B)-(III), (C)-(1V), (D)-(I)

Question Number : 29 Question Id : 5330722548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

( 3@ ) (Fuis)
(A) F @O T giaa o = Fy 59 esmur s g weifora = gafia e
ST S €
(B) NHRATH (1) T o o O o1 789 o ®9 1 <@ & Hehal € |
(C) Traewd (II1) =Fei =1 T9e fSHek g0 319 oA &1 Yo o1 gafda fean s
o ¥
(D) I (IV) &H S8 e a1 fepd o 1 Telieh Tl =N1feq, S9! I |

Fr= feu mu fasedi ¥ | W& T T 7 FHIGC
(1) (A, (B)-(D), (O)-(1), (D)-(IV)
(2 (A)-ID, (B)-(IV), (O)-), (D)-(1II)
(3)  (A)-V), (B)-(D), (O)-(IL), (D)~(11)
(4) (A1, (B)-(1D, (©)-1V), (D)1

Question Number : 30 Question Id : 5330722549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Term/concept) (Description)
(A) Upanaya (I)  The knowledge of Paksadharmata as qualified by Vyapti
(B) Paramarsa (I) The invariable relation or association of the Middle term in the
minor term
(C) Vyapt (IlI) The application of the universal concomitance to the present
case
(D) Paksadharmata (IV) The invariable association of the middle term with the major
term

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(T), (O)-II), (D)-(IV)
(2)  (A)-(II), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(1V), (B)-(III), (O)-(I), (D)-(II)
(4) (A)-(L), (B)-(I), (C)-(IV), (D)-(II)

Question Number : 30 Question Id : 5330722549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
T - 1 et - 11

(U/ASEITTO) (=i )
(A) 3IF () =Aftd gRI ATeaa qarHd 1 I
(B) R (1) ¥ 95 3R 981 9g &1 FRuare gey s7erer 9eed
(C) = (1) TrEifoes geafdar & ada mme § sy
(D) TaerHa (IV) ¥4 9% 3R |9 98 1 fems wead

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(ID, (B)-(1), (O)-(11L), (D)-(1V)
(2)  (A)-(m), (B)-(ID), (C)-(1V), (D)-(D)
(3)  (A)-(LV), (B)~(IIL), (O)~(I), (D)-(IT)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 31 Question Id : 5330722550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ChatGPT is an Al chatbot developed by OpenAl and was launched in November 2022. What
does ChatGPT stand for ?

(1) Chat Generative Pre-trained Transmission

(2) Chat General Pre-trained Technology

(3) Chat Generalized Pre-trained Technique

(4)

Chat Generative Pre-trained Transformer

Question Number : 31 Question Id : 5330722550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SHE. @A TaTE. 5 faewfaa uw 0w afs (T, Jeeie v SR 5 Tee 2022 § wafda fw
T 1| HE S, g AT e ?

(1) == SRfes dfi-gve gifaeH

(2) =T TS W-ZUE TS
(3) 2 SHeTgse W-2ue ZoFHh
(4) 2 SHifEa W TUe TEEER

Question Number : 32 Question Id : 5330722551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following snapshot of MS-EXCEL worksheet :

A B B

1 90 70
Z 60 170
3 150 | 20
4 30 110
3 50 40
6 130 | 30
7

What will be the value of the cell C1 conl:ai_lﬁng the formula=SUMIF(A1:A6,">100",B1:B6) in the
above worksheet ?

(1) 90
() 390
(3) 50
(4) 420

Question Number : 32 Question Id : 5330722551 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

UH,UH, U 1 95 F e Sueiie g faamr #ifs .

A B &

1 90 70
2 60 170
3 150 | 20
4 30 110
5 50 40
6 130 | 30
o

IEF Frd 9T H FwE ClL H I =SUMIF(A1:A6,>100”,B1:B6) T L 9L | 1 €711 7

(1) 90
) 390
@) 50
(4) 420

Question Number : 33 Question Id : 5330722552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If (L)ys represents a number L in base - M number system, then identify the correct descending
order of the fU]lDwi_ng number A-D, when converted to base-10 number system.

(A) (9C)yq

(B) (233)

© (1),

(D) (10011110),

Choose the correct answer from the options given below :
(1) (©), (D) (B), (A)

(@) (D) (©)(A) (B)

(3) (B, (O) (A), (D)

4) D) Q). (B), (A)

Question Number : 33 Question Id : 5330722552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afg (L), o5 TH 3ok JUIel! H Sieh Tl i Sl 8, df 774 35 A-D =l s[9-10 37 Fomel H ®9ia i
T IR Hel STeiel A i Tedr FIfS ;

(A) (9C)
(B) (233)g
(©) (313);

(D) (10011110,

= feu T faehedi § & W@ ST =EE H
1) (©, (D) (B) (A)

2 ©O) (©) (A) (B)

3)  (B) (©) (A) (D)

@) (D) (©) (B) (A)

Question Number : 34 Question Id : 5330722553 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What are the advantages of using Cloud Computing word processing software ?
(A) The user does not have to install word processing software on the computer.
(B) The user does not have to allocate space to install software in the hard disk.

(C) Storage space to save the document is provided by the cloud provider. The user can open or
edit the document from any computer which has Internet facility.

(D) If the user has slow Internet connection, then he/she would not face any problems accessing
or downloading his/her documents.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (B), (O) and (D) Only

(4) (A), (B) and (C) Only

Question Number : 34 Question Id : 5330722553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FARE FT I TG TiRerR % WA F F1-31 &1 € ?

(A) W F FHE R g WAfET Sireaar yfaweifu 7 & e 2

(B) AR T WiwzeRR i 1 & fou e fewr-—H A seEfed 721 e g 2|

(C) v =i Gifem TaA B YR TN F8E Wer YoM Hdl €| e see gfan arer et oft
FU H Yor@l Sl @il SAYe Hurfed T Hehel 2|

(D) afe gEER 1 3202 FAFE i 2, 91 Y 199 Jordl a9 TR d SAYel 3¢ SR I H I g
&l 2 |

= feu U fomredi # & W& I A =TI FY

(1) e (A) 3R (B)

(2) = (A) 3R (C)
(3) = (B), (C) 3 (D)
(4) = (A), (B) IR (O)

Question Number : 35 Question Id : 5330722554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Initiatives in Higher Education) (Description)
(A) GIAN (I) Translation of research knowledge into viable
technology (products and processes)
(B) IMPRINT-2 (II)  Achieve three Cardinal principles of Education policy
namely, access, equity and quality
(C) DIGILOCKER (IIT) Tap the talent pool of scientists and entrepreneurs
internationally
(D) SWAYAM (IV) Issuance and verification of documents and

certificates in a digital way
Choose the correct answer from the options given below :
(1) (A, (B1), (O-(I), (D)-(IV)
@ (A, B)-0), (C)HIV), (D))
(B) (A, (BRI, (O-(11), (D)-(IV)
(4) (A, (B)D, (C-IV), (D))

Question Number : 35 Question Id : 5330722554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e )
il - 1 T - 11

( == fomer o wget ) ( fererroT )
(A) A (Hemue.) () i S o1 oAderd Ureifiehl (3e 9 9fhand) # sfawm
(B) 3fFge-2 () Toen fifa & &9 qorga fosidi-s9rmy, e o qoEs =
T FAl
(©) fesfars (L) STAErg WX W AR 9 el & Tfas e & T@e
(D) =4 (WEFUIRTTH.) (V) fesfiea adF ¥ yordi 9 wHmosi sl St T 9 ST T
T

== feu o foshed ®§ 9 W& IR F =TI HIGC ;
(1) (A)-(IL), (B)-(I), (©)-(1), (D)-(IV)

2 (A1), B)-(1), (O~1V), (D)-(1)
(3)  (AHD), (By-(I), (O)-(I), (D)-(IV)
(4) (A, (B)-D), (O-(1V), (D)(I)

Question Number : 36 Question Id : 5330722555 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Based on the source of their food, organisms occupy a specific place in the food chain, known as :
(1) Trophic level

(2) Standing crop

(3) Top level organism

(4) Species level

Question Number : 36 Question Id : 5330722555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T W % BT o AR W @ e # sial 5 ek fafere e g ® s e v F e @
(1) et =R

2 T
(3) Y wEE e
(4) Sftasid T

Question Number : 37 Question Id : 5330722556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a primary air pollutant ?

1) COo
2) NO
(@) O,

4) SO,

Question Number : 37 Question Id : 5330722556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=1 § | 1 uF mufas 9m yguE T § 7
1) Co

(2) NO

(3) O3

4) SO,

Question Number : 38 Question Id : 5330722557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following gases in ascending order of their global warming potential (GWD).
(A) CO,

(B) CH,
(C) SF,
(D) CFC-11
E) N,0

Choose the correct answer from the options given below :
(1) @A), (B) (O), (E), (D)
(2) (A). (B) (E), (D), (O)
(3)  (B), (©) (A), (E), (D)
(4) (A). (E) (B), (D), (O

Question Number : 38 Question Id : 5330722557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et i <1 St afveer araa Suferar & sTiE sha § sgafierd Sifse :

(A) CO,
(B) CH,
(C) SF,
(D) CFC-11
(E) N,O

= feu mu fasedi ¥ | W& I T 7 FHIGC
(1) (A (B) (O, (B), (D)
(2 (A)(B) (B, (D). ©
(3) (B) (© (A), (E), (D)
@) (A), (B B), (D), ©

Question Number : 39 Question Id : 5330722558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are global scale Phenomenon ?
(A) Ozone layer depletion

(B) Global warming

(C) Forest Fire

(D) Sea level rise

(E)  Air pollution

Choose the correct answer from the options given below :
(I) (A), (C) and (D) Only

() (A), (B), (C) and (D) Only

(3) (B, (C) and (E) Only

(4) (A), (B) and (D) Only

Question Number : 39 Question Id : 5330722558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 & @ BF-H YHead W H TREeA 2
(A) S 9 o

(B) dfYar A

(C) =&

(D) WIR TR H g

(E) =g HgH™

e feu T foreredl & 9 T S F = T
(1) Fd (A), (©) R (D)

(2) F=@ (A), (B), (O) 3 (D)
(3) @ (B), (C) #H (E)
(4) E (A), (B) ¥R (D)

Question Number : 40 Question Id : 5330722559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(International Meetings) (Key objectives)
(A) Kyoto protocol (I) Global warming
(B) Montreal protocol (II) Biodiversity conservation
(C) Rio Summit (IIl) Ozone depletion
(D) Paris Agreement (IV) Solar Alliance

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (ORI, (D)-(IV)

2 (A1), (B)-1), (©)-@), (D)-1V)
() (A)-(), (B)-(D), (O-(IV), (D)-(IT)
() (AHIV), (B)(1D), (O)-(1), (D))
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Question Number : 40 Question Id : 5330722559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 136 |19 gt - 1 e e )
et - 1 et - I

(feiedia e ) (7 R=¥a)
(A) IR YrEreTe () Sfs
(B) Wifzad dreieTa (1) Stafefawar e
() Treh forer Trer (L) SIS &for
(D) uftw wsiar (IV) HR 4y (Tems)

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(III), (O)(IT), (D)-(IV)
(2) (A, (B)-(I1D), (C)-(1), (D)-(IV)
(3)  (A)-(II), (B)-(D). (O-(IV), (D)-(IT)
(4)  (A)-(1V), (B)~(II), (O)~(1), (D)-(11I)

Question Number : 41 Question Id : 5330722560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing open Universities according to their year of establishment in Chronological

order (Older - New) :

(A) Yashwant Rao Chavan Maharashtra Open University
(B) Karnataka State Open University

(C) U.P. Rajarshi Tandon Open University

(D) Kota Open University

(E) Madhya Pradesh Bhoj Open University

Choose the correct answer from the options given below :
1) (A (B), ©), (D) (E)

2) (D) (A) (B), (B) (O

(3)  B), (©) (E) (A), (D)

) D) (A), (B), (O), (E)

Question Number : 41 Question Id : 5330722560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafes g favafaareal +1 TFT ®WNUA-99 F FAFAHEAR FAftgqd FISC
(90 | 74 & FH H):

(A) TS =ee Henre e fovafeemea

(B) AEH T T Tava Tammem

(C) 7. usifd Z=4 g favafaea

(D) =hler o favafeaerea

() WA Yeu1 9 waa favafaenmea

49 fau 7o fawredi ¥ ¥ WE S F 999 FIfAU ;

(1) (A), (B), (O), (D), (E)
(2 (D) (A) (E), (B) (C)
(3)  (B), (O) (E), (A), (D)
4 (D) (A), (B), (C) (B)

Question Number : 42 Question Id : 5330722561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(MOOCs Quadrant) (Component)
(A) Quadrant I (I) e-Tutorial
(B) Quadrant II (I1)  e-Content
(C) Quadrant III (III) Web Resources
(D) Quadrant IV (IV) Self Assessment

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2)  (A)(D), (B)-(IIL), (C)-(I), (D)-(IV)
(3) (A1), (B)-(V), (O)-(I), (D)~{IL)
(4)  (A)-(IV), (B)-(1), (C)-(IM), (D)-(I)

Question Number : 42 Question Id : 5330722561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

(YT =T ) (o2 )
(A) et () 3-Toemrl
(B) =t II () E-foawa-a%
(C) = Il (II1) =F O
(D) =AT IV (IV) =E-TediFa

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(1L), (O)-(11L), (D)-(1V)
(2)  (A)-(D), (B)-(IIT), (C)-(I), (D)-(IV)
(3)  (A)-(1D, (B)-IV), (O)-(1), (D)-(IIL)
(4)  (A)-LV), (B)-(1), (C)-(LL), (D)-(11)

Question Number : 43 Question Id : 5330722562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where did nuns and monks meditate, debate and discuss with learned for their quest for knnwledge ?
(1) Monasteries

(2) Basadis
(3) Churches
(4) Ghatika

Question Number : 43 Question Id : 5330722562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fuegforat wd fueg o1 I % e & ford el W eAmE, o fagri & e ae-dare vd faan-fans
FA 42

(1) foerd

(2) wHied |
(3) frReERi §
(4) wfesw H

Question Number : 44 Question Id : 5330722563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following themes of Sustainable Development Goals according to their goal number
n i_ncreasi_ng order.

(A) Gender Equality

(B) Zero Hunger

(C) Peace and Justice

(D) Climate Action

(E) Quality Education

Choose the correct answer from the options given below :
(1 ®B), (E) (A), (D), (O)

(2 (A). (B), (D), (O), (E)

3)  (©), (D) (A), (E), (B)

(4) (B), (A). (B), (D), (C)

Question Number : 44 Question Id : 5330722563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad fawm el & fefatag fawai (o) #1376 @80 9@ & 991 9ed 80 %0 ¥ oFafed
I
(A) Sfirr (Sfer) FuEE

(B) YEw{ o wHIfE
(C) wfd o =m
(D) SIAIH-FHAR
(E)  TUreTIeR e

e feu o fawedi § | WE I F =T FIfAT
(1)  (B), (E), (A), (D). (C)
(2)  (A), (B), (D), (O), (E)
(3) (©), (D), (A), (E), (B)
4) (B), (A), (E), (D), (O)

Question Number : 45 Question Id : 5330722564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of following are the parts of AYUSH undergraduate education ?
(A) Siddha

(B) Sowa - Rigpa

(C) Yoga-Shastra

(D) Homoeopathy

(E) Sanjeevani

Choose the correct answer from the options given below :

() (A), (B) and (E) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (©) and (E) Only

Question Number : 45 Question Id : 5330722564 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

frfefaa & | $F 319y (TR, 3,091, ) [&-Fas fas F 9 € ?
(A) faz

(B) Hraw-fm

(C) AT

(D) el

(E) wsfrat

= feu o fawredi W | WE I F =TI FIfSU

(1) e (A), (B) 31 (E)

(2) e (B), (C) ¥R (D)

(3) A (A), (B) 3R (D)

(4) A (A), (C) 3 (E)
Sub-Section Number : 3
Sub-Section Id : 533072105
Question Shuffling Allowed : No

Question Id : 5330722565 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidya_nath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered to be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition- This is specia]_ly so in the case of games like hockey, archery
and cricket at both the national and the international levels.

Sub questions

Question Number : 46 Question Id : 5330722566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The organisation of archeological workshops has helped to create awareness about :
(1) Arts and Crafts

(2)  Built heritage

(3) Bamboo and woodcraft

(4) Games and sports

Question Number : 47 Question Id : 5330722567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jharkhand has become a favourite destination for visitors from India and abroad because of its :
(I) Stone carving activities

)  Mineral wealth
(3) Natural attractions

) Central location

Question Number : 48 Question Id : 5330722568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following activities is NOT included with state government initiative for enrichment

?

(1) Bamboo and woodcraft
(2) Tribal painting

(3) Stone carving

(4) Rock Painting

Question Number : 49 Question Id : 5330722569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which combination of sports has [harkhand gained national and international recognition ?

(1) Cricket, archery and hockey
(2) Cricket, archery and shooting
(3) Croquet, Cricket and archery
(4) Cricket, football and hockey

Question Number : 50 Question Id : 5330722570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which city was once considered the hub of education in Jharkhand ?

(1) Deoghar

(2) Ranchi
(3) Jamshedpur
(4) Koderma

Question Id : 5330722565 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 33/97



8/22/24, 11:49 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

e Trenier Rt ufeu 3iiv 39k @1g U9 T Uyl o I i

T Yok U9 | GHfed g o qvEd, FEve ekl afed gl &9 # gad wfa s @ B 1 O i A
YRIEY o HaY H YUdcid FEYTesl o SATArs gRI U4 i Sidl o aild STReehdl 3099 & o 39 JamH fergrg
¥ Y TeEF gUE |

T SHAT 1 Fenedi @R g & Hada ¥ fau 759 wig soae safed 3 & fau uea of =5 2 §)
9T wTepfaes stera fafa & off 5 T S oin foewll & wdeei % fou v fig vided wa a9 T | S S
ey, Grewhe, HeF Jiy, 0 ufee T8 Fo ToF € el 9 g ¥ gdes o € | 159 TR o7fen fag e ol
Torem el & WY-WY a9 9 H1S ew = 99g A oY fav w9 8 genag €1 e & & § v awa |-
T[oTEr o1 ForeT =R o WA ST STel YT UE U 9 YA: 391 Giaeet A T E | Wordhs o &5 H o T
J T T ure S U a9y o e, et o forthe S wel % ume H U 9 Sfaiig T W e
|

Sub questions

Question Number : 46 Question Id : 5330722566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R ErEeensl & o |3 e 8§ frges gey 1 sireshar 30 A § Wer # § 2

(1) e = forey

(2) fafa =ee

(3) G T HISH
)

WA o WAFS

Question Number : 47 Question Id : 5330722567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o I forgs R EvE aRa @R fessh | ydes! o fou v g e Toe 59 T 2
(1) Tomer-aerreh framrem

(4

(2) @S HEl
(3) TERfde AR
(4) FHEMA sEfeafa

Question Number : 48 Question Id : 5330722568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & 7 @1 o e dada ¥9 50 9 #1 ved § aftafed @ 2

(1) =9 9 Frefeeg
(2) enfew fesere
(3) o emmft

(4) T fesmERen

Question Number : 49 Question Id : 5330722569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Herke o 1 o 9 5 gaem o gREve 3 UL 9 S W e HE 2
(1) Terere, dErs o @kl

(2) Tereke, diEmst @ gien
(3) iR, TFeke 9 dHEmN
(4) TFFe, Fea= e

Question Number : 50 Question Id : 5330722570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AEve H = § | i |1 98l U GHT 9L TRe R Shes | S o ?

(1) TR

2 T

(3) SEEIEH

(4) TN

Archaeology

Section Id : 53307236
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072106
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5330722571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who introduced Ariel Photography in Archaeology ?

(1) OGS Crawford

(2) Peter Haggett

(3) R.J. Atkinson

(4) S. Piggot

Question Number : 51 Question Id : 5330722571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e fasm W gars srafas &1 yad+ feer foear?
(1) 3 S TH FHS

(2) dreEe
(3) RS, TEFRTA
(4) T fgie
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Question Number : 52 Question Id : 5330722572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The method of applying measurements in documenting, analysing and interpreting archaeological
records 1s called .
(I) Archaeometry

(2) Morphometry
(3) Archaeozoology
(4) Remote Sensing

Question Number : 52 Question Id : 5330722572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qraTfearh stfyeral & e, favemmn oin fe=m # sruga w i fafy Feard €
(1) YUdcammfd

2) E9Afg
(3) g™
(4) fodre dfgn (g2 Ha=)

Question Number : 53 Question Id : 5330722573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The study of past ways of thinking through the symbolic structure and material remains is called ?
(1) Ethnoarchaeology

(2) Experimental Archaeology
(3) Cognitive Archaeology
(4) Special Archaeology

Question Number : 53 Question Id : 5330722573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR e T 217 Hifaes 19l o Wegm 9 319 F 9red o TF1 1 15999 Feam © ;

(2) wEIfTF gLEe
(3) HIFRHF A
(4) TR g

Question Number : 54 Question Id : 5330722574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

This area remains unexcavated and maintained intact till the end of the excavation and are part of
four sides of the trench :

(1) Strata

(2) Natural Soil
(3) Peg
(4) Baulk

Question Number : 54 Question Id : 5330722574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IE &7 SEH H TR T S § T SAgH 3 Si O S18] S Tl S 5, A% 89 °F AR O o 9 ©

(1) wa@

(2) Efas Tal
(3) ()
(4) ==

Question Number : 55 Question Id : 5330722575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who identified Chandragupta Maurya with Sandrakottos of Classical writer and associated with
Alexander, which helped in firm chronology of 326 BCE ?

(1) James Princep

(2) Alexander Cunnigham

(3) William Jones

(4) F.W Gardener

Question Number : 55 Question Id : 5330722575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=27 =g O 1 TR YRS g Sy o 91y i oI foehet & Wiy 39 e, e 3= 326

$9. % eIy F [T F § Heg fied
(1) g oy

(2) STeIRiEt Hiem

(3) faferam sig

(4) TUE o MR

Question Number : 56 Question Id : 5330722576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which site yielded camel bones ?

(1) Amri

(2) Lothal

(3) Dholavira
(4) Kalibangan

Question Number : 56 Question Id : 5330722576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefofes # 9 fFg qoeae 9 S #1 sifeal e g o ?

(1 e

(2) wiga

(3) e
(4)  SFTEAETA

Question Number : 57 Question Id : 5330722577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The site which played an important role in the sea trade between Indus Civilization and the Persian
Gulf on the Makran Coast

(1) Sotkagen Dor
) Sukkkur Rohri

(3) Mohenjodaro
) Shortughai

Question Number : 57 Question Id : 5330722577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e a2 W THYEeral HR Y &1 @Il o | 9yal AR H fEfatad 9 e queea § weeol
sifirert e 2

(1) WIEREER
2 FERU
(3) RS
(4) g

Question Number : 58 Question Id : 5330722578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which site yielded Bronze Water Buffalo ?
(1) Chanhudaro

(2) Amri
(3) Daimabad
(4) Malavan

Question Number : 58 Question Id : 5330722578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 fFy grea 9 #3159 (IR TH) 9 6 € ?

(1) =&
2 @i

(3) <HEIHEE
(4) HIEET

Question Number : 59 Question Id : 5330722579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following site provided the earliest date for the use of iron in India ?
(1) Dadupur

(2) Ahicchatra
(3) Hulas
(4) Khairadih

Question Number : 59 Question Id : 5330722579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefefas & 4 ffg Teem & ura ¥ e w4 % yRivs g oo €2

(1) <IgH
(2) A
(3) T
(4) TSR

Question Number : 60 Question Id : 5330722580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first person to come across Harappa but identified it as an ancient city of Sangla was :
(1) John Marshal
) Charles Mason
(3) Alexander Cunnigham
) Daya Ram Sahani

Question Number : 60 Question Id : 5330722580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS0 Uga STl 98 YW SAfa i o, FIET S5t Tgee | e WA W8l F w9 H H off ?

(1) =i A

(2) =red 7EA

(3) TeTRi=t e
(4) TARTH HEA

Question Number : 61 Question Id : 5330722581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Pinjor zone is a :

(1) Lower Siwalik formation
(2) Upper Siwalik formation
(3) Outer Siwalik formation
4)

Middle Sohanian formation

Question Number : 61 Question Id : 5330722581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fosiR &3 €

(1) = feenfeer 9 seRfas w=Ey
) 5= TyEnereR 9 S WEy
(3) @Rl ToEeer 9 SRR wEy
) HEA Hied o AR Ty

Question Number : 62 Question Id : 5330722582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“Studies on the Ice Age in India and Associated Human Culture” was written by :
(1) H.D. Sankalia

(2) Shanti Pappu
(3) H.D. Terra and T.T. Patterson
(4) L.A. Cammidos

Question Number : 62 Question Id : 5330722582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“zEle 3T T oY U 39 e U vHifueE e e e [ O TR ©
(1) =€l giekfemn

(2)  ifer oy
(3) TEEL oW R &3, diedq
(4) TUAW FHEH

Question Number : 63 Question Id : 5330722583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The cranial capacity of the Hathnora skull specimen is :
(1) 1260 CC

) 1620 CC
(3) 1420 CC
4) 650 CC

Question Number : 63 Question Id : 5330722583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRR EIS! T H FAAT &0
(1) 1260 CC
(2) 1620 CC
(3) 1420 CC
(4) 650 CC

Question Number : 64 Question Id : 5330722584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Upper Palaeolithic Bone tools are found in India from :
(1) Narmada Valley

(2) Mucchchatla Chintamani Gavi/Caves

(3) Didwana

(4) Gufkral

Question Number : 64 Question Id : 5330722584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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qRA H S JRATOTO] e Afeer Susr fre F | el 9 wra gu € ?
(1) #vgT =t

(2) wE=en feamfo w7
(3) fegarm
(4) TERTA

Question Number : 65 Question Id : 5330722585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Paisra is a :
(1) Neolithic site
) Acheulian site
(3) Harappan site
) Megalithic site

Question Number : 65 Question Id : 5330722585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T

(1) =9 qTETOERTe GUere
RS G G

(3) TS TR

) HEMTHTIERTE A GO

Question Number : 66 Question Id : 5330722586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Some of the Sarai Nahar Rai skeletons were associated with :
(1) Rheumatism

(2) Osteoathritis
(3) Ring-worms
(4) Neuro motor disease

Question Number : 66 Question Id : 5330722586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A T4 o F Theblal HHfelfEd § Gag 9
(1) Hfeera (Tfean)

(2) fereEm
() €=
(4) = 9% 9K

Question Number : 67 Question Id : 5330722587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘Geru’ used for painting in caves and pottery is :
(1) Iron Peroxide

Decomposed silica

)
(3) Powdered magnetite
) Herbal extract

Question Number : 67 Question Id : 5330722587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HEHIE 3 THeT H foaehen og 9gaa ‘7%’ € ¢
(1) =T RWirse

(2) uafed fafa
(3) = Frese
(4) woA 3F

Question Number : 68 Question Id : 5330722588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ysahodhar Mathpal documented the site of :
(1) Lothal

(2) Kurnool Caves
(3) Bhimbetka group of paintings
(4)  Shell bangles of Indus Valley Civilization

Question Number : 68 Question Id : 5330722588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MR, WS A TAefaiEa | | T QU 1 Jorad e ?

(1) e

(2) FATPM

(3) fimees fee-ugE

(4) foy == g #1 vE =1 et

Question Number : 69 Question Id : 5330722589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The site of Mehrgarh in located in :
(1) Sutlej River Valley

(2) Ravi River Valley

(3) Bolan River Valley

(4) Krishna River Valley

Question Number : 69 Question Id : 5330722589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeUTe JUIe] Fel feed ®
(1) Heers a1 =t

(2) el &l e

(3) e AGT =Rl

(4)  Fo T e

Question Number : 70 Question Id : 5330722590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Evidence of ‘community feasting’ is reported from which prehistoric site in India :
(I) Sanganakallu

(2) Burzahom
(3) Kupgal
(4) Budihal

Question Number : 70 Question Id : 5330722590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ra # fofm aritfaeries e | TrErfas Ui & aed foed € 2

(1) ETRee]
(2 ToFRm
(3) FIT™
@) e

Question Number : 71 Question Id : 5330722591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Evidence of Betel Nut (Areca Cateche) comes from the site of :
(1) Watgal

(2) Bagor
(3) Gilund
(4) Chirand

Question Number : 71 Question Id : 5330722591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU (31T e ) & T frefafed o ¥ ffg qrem 9 foa €2

(1) =
(2) ¥WR

(3) frg=
(4) T=e

Question Number : 72 Question Id : 5330722592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The earliest date from the site of Gufkral in the range of :
(1) 2468 - 2139 B.C.E.
(2) 3756 - 3425 B.C.E.
(3) 2290 - 1740 B.C.E.
(4) 3056 - 2733 B.C.E.

Question Number : 72 Question Id : 5330722592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TFRTE GUEIA i eAifeaw fafer =i wHremety 2
(1) 2468 - 2139 3.4.

(2) 3756 - 3425 £,
(3) 2290 - 1740 3.9,
(4) 3056 - 2733 €.,

Question Number : 73 Question Id : 5330722593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arjuna Ratha at Mahabalipuram is dedicated to which deity :

(1) Shiva

(2) Vishnu
(3) Lakshmi
(4) Surya

Question Number : 73 Question Id : 5330722593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Temferged feerd srsfe fora Saar =1 gnfda 22

(1 fm
(2) faoq
(3) s
4 g4

Question Number : 74 Question Id : 5330722594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Attempts were made to worship the portraits of Mahavira, even during his lifetime, depicted with

a crown, ornaments and lower garments known as :
(1) Chetanswami

(2) Tirthaswami

(3) Jivantaswami

(4) Bahubaliswami

Question Number : 74 Question Id : 5330722594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HETE 1 ST R THA Sk Sier Fidt | 8l R o o, fored 3% Wepe, snyuul ud sreiaeEl § gutsa
sifera Toam o o, 39 el S @

(1) =T
(2)  drerEr

(3)  SirsaEamt
(4) e

Question Number : 75 Question Id : 5330722595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book ‘My pilgrimages to Ajanta & Bagh’, published in 1925 from London, is written by :

(1) Mukul Ray Anand

(2)  Sri Mukul Chandra Dey

(3) Alexander Cunnigham
)

(4) Lady Herringham

Question Number : 75 Question Id : 5330722595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 1925 H oigd ¥ gehfyra ‘og fuefimst 2 srsiar U A’ A g % O €

2) MAFATRE
(3) STeIRTe Hi=Em
(4) <€l 2w

Question Number : 76 Question Id : 5330722596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under whose reign the Rashtrakuta capital was shifted from Ellora to Malkhed ?
(1) Krishna II

(2) Amoghavarsha I
(3) Amoghvarsha II
(4) Karka II

Question Number : 76 Question Id : 5330722596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freafafiaa § 9 frges vraaerra # Tgdel ol THUH TAR ¥ Herde i g of ?

(1) Foml
(2) A I
(3) e I
(4) F& I

Question Number : 77 Question Id : 5330722597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The first rock-cut architecture of Mahendravarman-I was Laksitayatana Trimurti Temple was

built at e
(1) Aihole

(2) Ellora

(3) Mahabalipuram
(4) Mandagapattu

Question Number : 77 Question Id : 5330722597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HEEarA-1 H 99 Sieggd argeel S Seety aafgarEdd ffd wie el ffda swams 78 off 2
(1) =rEer

Question Number : 78 Question Id : 5330722598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following caves is also known as ‘Chota Kailas" ?
(1) Cave no. 02, Ellora
(2) Cave no. 30, Ellora
(3) Cave no. 21, Ellora
(4) Cave no. 12, Ellora

Question Number : 78 Question Id : 5330722598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § § fFm e 1 'S Fam ' F 9w g ot S S €2
(1) T . 02, TART
) T . 30, TEN
(3) A 21, TER
) TE A 12, TER

Question Number : 79 Question Id : 5330722599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Ekamra Purana, a thirteenth century sanskrit treatise, mentions which city as Ekamra Kshetra ?
(1) Kannauj

(2) Bhubaneshwar
(3) Osian
(4) Hampi

Question Number : 79 Question Id : 5330722599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el AT o Hehd Ty uewy o’ § frefafaa § § R @ o Soore ' uEw g R w T § 2
(1) ==

(2) YATR
(3) sHifama
(4) ®

Question Number : 80 Question Id : 5330722600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not celestial Buddha ?
(1) Vairocana

(2) Akshobhya
(3) Amitabh
(4) Maitreya

Question Number : 80 Question Id : 5330722600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefertea & 4 %A fosr (Tefeae) 95 7= 872

() o
(2) @l
(3) eAfHary
(4) w4

Question Number : 81 Question Id : 5330722601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which inscription of India furnishes the earliest evidence of city (nagara) ?
(1) Nagarjun cave inscription

(2) Barabar cave inscription
(3) Mahasthan stone plaque inscription
(4) Asanpat image inscription

Question Number : 81 Question Id : 5330722601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

yrd % frefafaa § 9 frg sfvyema § 9=t (7)) =1 i Qe fieran €72
(1) TS T e

2) SUSR TH AR
(3) HERYM Y Feldh e
(4) A gfqe sifyera

Question Number : 82 Question Id : 5330722602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is the latest known site of an Asokan Inscription ?
(1) Ghurhupur

(2) Erragudi

(3) Jaugada

(4) Dhauli

Question Number : 82 Question Id : 5330722602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR SfYerd o1 FeftTan T g frefafeaa § § wF @ e ?

(1) FHEX
(2) wTE
(3) e
(4) e

Question Number : 83 Question Id : 5330722603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was the first to identify ‘devanam piya" with the Maurya King
Ashoka ?

(1) James Prinsep

(2) Arther Keith

(3) William Jones

(4)

George Turnour

Question Number : 83 Question Id : 5330722603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0 U 2791 o 2 T % ' ° geved a5 aren fage frefafea § | @ a2

(1) < 5y

2) MR HY
(3) fafaaw s
(4) STS 2R

Question Number : 84 Question Id : 5330722604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many lines are there in the Besnagar stone pillar inscription ?

1 15
@ 12
@) 9
(4) 6

Question Number : 84 Question Id : 5330722604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SEATE T 97 1o o feraT dieEr € 7

1 15
@) 12
@) 9
4) 6

Question Number : 85 Question Id : 5330722605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Gupta inscription records the name Mantaraja as a king of Daksinapatha ?
(I) Mathura pillar inscription of Chandragupta

(2) Allahabad pillar inscription of Samudragupta
(3) Bhitari stone pillar inscription of Skandagupta
(4) Mandasor inscription of Kumaragupta

Question Number : 85 Question Id : 5330722605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § & forg o= sfverg # <feumde 3 T % &9 § quets 6 9 dfifafaa &2

(1) =& =1 "9y w6y AleE

(2) HHETW I FEARTEE g WY A
(3) ke ok fad T WY v
(4) FHTA H1 HedR e

Question Number : 86 Question Id : 5330722606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Ashokan inscription is written in a semiboustrophedon script ?

(1) Kalsi

(2) Girnar
(3) Erragudi
(4) Sannati

Question Number : 86 Question Id : 5330722606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa o | %F 91 a9 stfvera sriaderas (o1 yeardt eaq) ot § fomn 7 2

(1) FerE
(2) fmER
@)
(4) g=fa

Question Number : 87 Question Id : 5330722607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The scholar who is known to have deciphered the kharosthi script simultaneously with James
Prinsep was __ o

(1) C.L. Grotefend
(2) G.F. Grotefend
(3) Charles Wilkins
(4) H.T. Colebrooke

Question Number : 87 Question Id : 5330722607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 forg fagm =1 S 9y % a9y @it fafy sr=a & foao s smar €2

(1) ¥H.ua. Uere
(2) Shus. deFe
(3) =red fafers

(4) T FiewF

Question Number : 88 Question Id : 5330722608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Satavahana coins are predominantly made of ?
(1) Copper and Silver

(2) Copper and Tin

(3) Silver and Lead

(4) Copper and Lead

Question Number : 88 Question Id : 5330722608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

raaled Fiei e wEd: fFeifea 999 9 ¢
(1) ¥ 3R =

2) &R fA
(3) IO R
(4) " SR

Question Number : 89 Question Id : 5330722609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who issued the ‘Aparitigha coins’ :

(1) Chandragupta I

(2) Samundragupta
(3) Chandragupta Il
(4) Kumaragupta I

Question Number : 89 Question Id : 5330722609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘ s faer” frefafea § & fore <)) f6a 92

(1) ==7«l
(2) HHRT
() =RICl
(4) PHTAI

Question Number : 90 Question Id : 5330722610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A silver coin of Harigupta was discovered from the site of

(1) Atranjikhera
(2) Ahicchatra
(3) Hastinapur
(4) Indraprastha

Question Number : 90 Question Id : 5330722610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eforat 1 T fa frefafaa § 9 frm gueere 3 @ien mn o ?

(1) osTEe
(2) Afes=

(3) R
(4) FTEIH

Question Number : 91 Question Id : 5330722611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the wares in chronological order :

(A) Faiz Md. Grey Ware

(B) Torpedo

(C) NBPW

(D) PGW

Choose the correct answer from the options given below :
(1) (D) (©), (A) B)

@ (), (O D) (A

@) (A), (), (O (D)

(4) (A), (D) (), (B)

Question Number : 91 Question Id : 5330722611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfiaa sl =R e # =afterd i
(A) S Hewg gE Ui

(B) eRUEl
(C) T ey
(D) i Sft z=y

A= feu o fasredi # & W I H =T FG

(1)  O) Q). (A) (B)
2 (®). (© (D) (A)
(G) (&) B), (Q), (D)
@) (A), (D) (©) (B)

Question Number : 92 Question Id : 5330722612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al'range the sites excavated in chmnological order :

(A) Nal
(B) Sothi
(C) Kot Diji
(D)  Amri

Choose the correct answer from the options given below :
(1 @), Q) (D), (A)
(2 (D) (©), (B), (A)
(3)  (©), (D), (A), (B)
4) @A), ®), (©), (D)

Question Number : 92 Question Id : 5330722612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfefaa segafta Qe &t FemRrd § sqafer S

(A) e
(B) el
(C) hIegrsh
(D) e

A fe T fasedl & & W& IW F T FC
(1) (B), (©) (D), (A)
(2) (D) (Q). (B). (A)
3)  (©), (D), (A), (B)
(4) (A), (B), (C) (D)

Question Number : 93 Question Id : 5330722613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the excavated sites which yielded relic casket in chronological order :
(A) Vaishali

(B) Devnimori

(C) Sanchi

(D) Piparwah

Choose the correct answer from the options given below :

(1 (©), (D) (A) (B)

(2) (D), (C) (B) (A)

@) (©. (B). (A) (D)

(4 @A), ([B),© D)

Question Number : 93 Question Id : 5330722613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STE HIW o |y Se@ia fferfiad quereEl s FHemgEn § e S

(A) Sl
(B) am
(C) =

(D) fowEmE

A ey T fareredl W & W& I T T
(1) (©), (D) (A) (B)
(2) (D), (C), (B) (A)
@) (©), (B), (A) (D)
(4) (A) (B). (O (D)

Question Number : 94 Question Id : 5330722614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the excavated Early Historic sites in chronological order :
(A) Rangmahal

(B) Ayodhya

(C) Nasik

(D) Devnimori

Choose the correct answer from the options given below :

(1) (B), (O, (D), (A)

(2 (), (O (A) (D)

(3) (D), (A), (B), (D)

4 (©, @A) (D) (B)

Question Number : 94 Question Id : 5330722614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freifera amfe tfteros Saaafa qURaE i FHIHHT | afeed Hifa ;

(A) THEd
(B) i
(C) fa
(D) <o

A= feu o fasredi # & W I H =T FG
(1) (B, () (D), (A)
(2)  (B), (O, (A) (D)
(3) (D) (A) (B), (D)
(4) (©), (A), (D) (B)

Question Number : 95 Question Id : 5330722615 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Arrange the sites according to their cultural period from the earliest to the recent :
(A) Didwana, Paisra, Nevasa

(B) Sarai Nahar Rai, Patne, Renjgu_nta

(C) Lothal, Rojdi, Dholavira

(D) Atranjikhera, Jodhpura, Lal Qila

(E) Brahmagiri, Tekalkotta, Naikund

Choose the correct answer from the options given below :

() (A, (B), (©), D) (E)

(2 (D), (B), (O), (A), (B)
3) (), (D) (©), (B), (A)
@) (©. (D) (A) (B) (E)

Question Number : 95 Question Id : 5330722615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiaa QeI o1 3 HiEhfae w1 & ATER STfean § Fe-a9 F 0 § Hafed Hifag ;
(A) Tegamn, Tgm, Jamm

(B) HUH AR I, YA, e

(C) <y, TsEt, HieEi

(D) SFaLsiEe], S, ereteha

(E) W@, THemhieel, ToHhe

=i feu g ferpedi @ | @& I A = HE
(1) (A), (B), (O), (D), (E)

(2 (D), (B), (), (A). (B)

(@) (B, (D) (O, (B), (A)

@) (©), (D) (A), (B), (E)

Question Number : 96 Question Id : 5330722616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the typology of the tools from the earliest types to the recent :
(A) Side scraper, end scraper, denticulates, points and boarers
(B) Flake blades, backed knives, points lunates, trapezes

(C) Polished axes, adzes

(D) Choppers, handaxes, cleavers

(E) Bifaces, Levallois and discoid core techniques

Choose the correct answer from the options given below :

(1) (A), (E), (D), (O), (B)

(2)  (B), (D), (A), (E), (B)

() D) (E), (A), (B), (O)

(4) (©), (B) (A), (E), (D)

Question Number : 96 Question Id : 5330722616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfefas suol (o) 1 wfefa & enfean wR | FHaw & 0 § aferm Fi
(A) Arvs GEEAL, =T G, Siae, SEE, SR
(B) ek THl, SHUR gh, W ey, sy
(C) AR Feersl (FeR), T

(D) e, sEFeR, fagnel

(€) feum, wEreen it femames #R ails
= feu T faehedi § | W@ ST =EE H
(1) (A), (B), (D), (O), (B)

(2 (B), (D), (A), (E), (B)

(3) (D), (B), (A), (E), (B)

4) Q). (B), (A). E), (D)

Question Number : 97 Question Id : 5330722617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the stages of the development of archaeology research in their chronological order :
(A) Processual

(B) Speculative Period

(C) Post Processual

(D) Period of Antiquarianism

Choose the correct answer from the options given below :

(1 (©), (D), (B), (A)

(2 (C) {B) (A), (D)

(3) (4), (D), (©

(4) (D) (B), (A), (©)

Question Number : 97 Question Id : 5330722617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R o srgHeEN foerms Fi frefafaa sEeensii #1379 Fremghn § Hafter Hifag
(A) wlsFaATHS

(B) HIHIHIHE el
(C) S UFRITHS
(D) e e

A= feu o fasredi # & W I H =T FG
(1) (©), (D), (B), (A)

(2 (©), (B) (A) (D)
G)  ®) (A), (D), ©)
@) (D) (B), (A) (©

Question Number : 98 Question Id : 5330722618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the stages of tool typology from the recent to the earliest :
(A) Arzilian

(B) Maustrian

(C) Abbevilian

(D) Danubian

(E) Auwrignacian

Choose the correct answer from the options given below :
(1) (©), (B) (E), (A), (D)

(2) (D), (A), (B), (C), (E)

(3)  (B), (A), (C), (D), (E)

(4) (B), (D) (Q), (A) (B)

Question Number : 98 Question Id : 5330722618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Iyt Hityfa &1 frefafaa sraeeneti &1 7dqan 4 enfean & w0 § sqafem Fifse
(A)  AfSfaaA

(B) Wr=fEA

(C) ussfafesm

(D) -l

(E) sfo-foreA

= feu o fosedi & | @& I @ =974 HIfE

(1) (©), (B), (E), (A), (D)

(2 D) (&), (B), (O) (B)
@) (B, (A), Q. D), (E)
4) (B), (D), (©), (A) (B)

Question Number : 99 Question Id : 5330722619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the Acts related to heritage conservation in India in chronological order from the earliest
to the recent :

(A) The Indian Treasure Trove Act
(B) Ancient Monuments Preservation Act
(C) Bengal Regulation XIX
(D) The Ancient Monuments and Archaeological Sites & Remains Act
(E) Madras Regulation VII
Choose the correct answer from the options given below :
(1) (D), (B), (A), (E), (C)
2 (©, (E), (&), (B), (D)
3) (), (©), (B). (A), (D)
(4) (B), (A), (O), (D), (E)

Question Number : 99 Question Id : 5330722619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRA W fouma (9E) S0 § Gaihg Al i Aiead § AdiTaH o HIarshH § saaredd ity ;
(A) T TR g9 TR
(B) W= W Hia srfufray

(C) @&TTel TIes™ XIX
(D) TR TR 3R YR e sfevy sfufam

(E) HETH WeIeA VII

== feg o ferredi W | W& I A = e
(1) (D). (B), (A), (E), (O)

(@ (©, (E) (A), (B), (D)

(@) (E), (O (B), (A), (D)

4) (B), (A), (©), (D), (E)

Question Number : 100 Question Id : 5330722620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Tirthankaras in chronological order :
(A) Risabhnath

(B) Parshvanath

(C) Suparshvanath

(D) Mahavira

Choose the correct answer from the options given below :
(1 @A), ©), (B) (D)

2 (@A), (B), () (D)

(3 (A), (D), (Q), (B)

4) D) (©Q), (B), (A)

Question Number : 100 Question Id : 5330722620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefefaa diefetl =1 FHomgwn § Saferm Hifa

(A) FHEYAY
(B) HIgETY
(C) HaweY
(D) WHeER

A= feu o fosredi # & W I H =T FG
(1 (A) ©), (B), (D)
(2) (A), (B), (©), (D)
3)  (A), D) Q) (B)
(4) (D), (©), (B), (A)

Question Number : 101 Question Id : 5330722621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Hoysala Temples in chronological order :

(A) Chennakesava Temple Belur

(B) Mallikarjuna Temple, Basaralu

(C) Keshav Temple, Somnathpur

(D) Hoysaleswara Temple, Halebidu

Choose the correct answer from the ﬂptions given below :

L B, (A), D), ©

2 (©.(A) (D) (B)
@) D) (A) (B), (O
) (A D) ®),©)

Question Number : 101 Question Id : 5330722621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea e wiel %1 FersEs | sqafted Fifa
(A) =TRvE HER, S

(B) HicerprslA HieY, adie]

(C) =here HfST, HHATIYY

(D) TEEEYR T, ToElg

= feu U fasredi # 9 WE IW 1 =TT HIC

M B, (A, (D), ©
(2 (©, (A) (D) (B)
@) @) (A) (B), (©
4) (A), (D) (B), (©

Question Number : 102 Question Id : 5330722622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following incarnations of Vishnu in chronological order :
(A) Matysa Avatar
(B) Varaha Avatar
(C) Narasimha Avatar
(D) Parashurama Avatar
(E) Vamana Avatar

Choose the correct answer from the options given below :
(1) (A, (B), (©), (D), (E)

2 (A), (B), (©), (E), (D)
(3) (B, (O (D), (E), (A)
) (©), (B) (D), (E), (A)

Question Number : 102 Question Id : 5330722622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fao] o frefofaa s/Eari = werFn W safeerd Fifs
(A) T FAAR

(B) = AR

(C) fHE Faar

(D) M SEar

(E) dA AdR

e feu o foreredl & F T S = FE

(1) (A), (B), (©), (D), (E)

(2 (A), (B), (O, E), (D)
@) (B), (©) (D), (E), (A)
(4) (©), (B) (D), (E), (A)

Question Number : 103 Question Id : 5330722623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following kusana inscription in the chronological order :
(A) Mathura Image inscription of Kaniska I

(B) Wardak Bronze Vase inscription of Huviska

(C) Sarnath Buddhist image inscription of Kaniska I

(D) Manikiala stone inscription of Kaniska I

(E)  Sui Vihar inscription of Kaniska I

Choose the correct answer from the options given below :

(1) (), (E) (D), (A), (B)

(2 (B), (A), (D), (O), (E)

(3) (D), (B), (A), (E), (C)

(4) (A, (©), (D), (B), (E)

Question Number : 103 Question Id : 5330722623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feifera Spamon sfretwal o1 SFTeTh HIHR Safeed hifed ;
(A) SR [ FelE 9y 9fqw @

(B) Efa=h = =&k HE HUl o

(C) TR | FTAM GRAY dig i o

(D) R [ =1 [iF=ETE 9T o

(E) fer 1 Gg faer sifuera

e fe T foemedl § F T ST = F
(1) (©), (E). (D), (A). (B)

2 (B, (A), (D), (O (E)

(3) (D), (B), (A), (E), (C)

(4) (A) (©), (D), (B), (E)

Question Number : 104 Question Id : 5330722624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Saka inscriptions in the chronological order :
(A) Gunda stone inscription - Rudrasimha [

(B) Garha stone inscription - Rudrasena [

(C) Junagarh rock inscription - Rudradaman [

(D) Kanakhera stone incription - Sridharavarman

(E) Silver coin inscription - Jivadiman

Choose the correct answer from the options given below :
1) ), (D) (A) (O) (E)

2 (A, (B), ©), (D) (B)

@) D) (A), ©), (B), (E)

@) (©. (A), (). (B), (D)

Question Number : 104 Question Id : 5330722624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfaiaa e stfueral & 396 Ffad s H Sareed Fifs
(A) =1 9T SAfverg - FEfEE |

(B) @ UruTY SfierE - ®EEd 1

(C) e ¥ eifirerE - FEemA |

(D) THAES G0 SAHTEE - SR

(E) o foaem stfiera - o

= feu U fomredi § § WE I A T4 FfE
(1) (B), (D), (A), (C), (E)

(@ (A (EB), (©), (D) (B)

@) (D) (A), (©), (B), (E)

4)  (©), (A), (B), (B), (D)
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Question Number : 105 Question Id : 5330722625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Gupta inscriptions in chronological order :
(A) Mathura pillar inscription - Chandragupta Il

(B) Allahabad stone inscription - Samudragupta

(C) Kahaum stone inscription - Skandagupta

(D) Bilsad stone inscription - Kumaragupta I

(E) Udayagiri cave inscription - Chandragupta Il

Choose the correct answer from the options given below :

(1) (B), (O, (D), (A), (E)

2 (A, (), ©), (B) (D)
(3) (B, (A) [E). D) (©
4 (©), (B) (D), (A), (E)

Question Number : 105 Question Id : 5330722625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa T sifieral i FarFEs | aftad Fif
(A) HYU WY A - F5a 10

(B) ScRIETE U HWeRE — HHEW

(C) e T Sfyerg - TheT

(D) fawgre g sy - FHRTE |

(E) A ot stfverd - == 11

e feu o foreredl & 9 T S F = FE

(1) (B), (O (D), (A). (E)

2 (A, (E), ©). ®), (D

) )
(@) (B), (A) (B), (D), (O)
4)  (©), (B), (D), (A), (E)

Question Number : 106 Question Id : 5330722626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Name the three mounds of Taxila :

(A) Bhir

(B) Sirsukh
(C) Saipai
(D) Sirkap

Choose the correct answer from the options given below :
(1) (A), (B), (O Only
() (D), (), (B) Only
(3) (C), (D), (A) Only
(4)  (A), (B), (D) Only

Question Number : 106 Question Id : 5330722626 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

A9 = o9 2 o A €
(A) 4R
®) fogm
(C) wEaE
(D) fawFy
1 few o faeredl & & T I 1 =TT Hf
(1) = (A), (B), (O)
(2) = (D), (C), (B)
(3) e (Q), (D), (A)
)

(D),
(4) EE (A), (B), (D)

Question Number : 107 Question Id : 5330722627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The minor Rock Edicts of Ashok are found from :

(A) Nellur

(B) Amravati

(C) Rupnath

(D) Bhabru

Choose the correct answer from the options given below :
(1) (A), (B) (D) Only

(2) (A), (©), (D) Only

(3 (B), (O, (A) Only

4) (A), (B), (©) Only

Question Number : 107 Question Id : 5330722627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR o o7 oot T S € -
(A) TR

(B) AT

(C) FITY

(D) g

A few o faedl & & T I H T Hif
(1) e (A), (B), (D)
(2) = (A), (©), (D)
(3) FaE (B), (Q), (A)
(4) =@ (A), (B), (O)

Question Number : 108 Question Id : 5330722628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which dynasty circulated billon coins :
(A) Pala Dynasty

(B) Solanki Dynasty

(C) Gurjara Pratihara Dynasty

(D) Gurjara of Nandipuri Dynasty

Choose the correct answer from the options given below :

(1) (A) Only
(2)  (©) Only
(3) (D) Only
(4) (B) Only

Question Number : 108 Question Id : 5330722628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafiad ® | ford e | faem (79urg)  faes 9o 92
(A) O TS

(B) Hicieh! TsTawl

(C) TR iR Tsor

(D) Y T o TR

= fou u foeredi # 9 & IW 1 F9H AT -

(1) e (A)
(2) e (C)
(3) %= (D)
(4) = (B)

Question Number : 109 Question Id : 5330722629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following sites have mud fortification ?
(A) Mathura

(B) Mangalkot

(C) Kotasur
(D) Atranjikhera
(E) Rairh

Choose the correct answer from the options given below :
(1) (B), (A), (E) Only
2 (©. (B), (A) Only
@) (A), (©), (D) Only
(49) (B), (A), (O) Only

Question Number : 109 Question Id : 5330722629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Fretfefian & fo TR T el 3 Tl (e ifERmRTR) T T 2

(A) HIU
(B) HITTHIZ
(C) ==
(D) SFaisEe
(E) W (@)

e feu T foeredl & 9 T I = F
(1) = (B), (A), (E)

2 = (Q), (B), (A)
(3) = (A), (O), (D)
(4) = (B), (A), (C)

Question Number : 110 Question Id : 5330722630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The most significant range of OCP is reported from :
(A) Saipai

(B) Sringaverapura

(C) Hastinapur

(D) Atranjikhera

(E) Rajpur Parse

Choose the correct answer from the options given below :
(1) @A), (Q), (B) Only

(2)  (A), (D) Only

(3) (B), (B), (C) Only

(4) (A), (B), (O) Only

Question Number : 110 Question Id : 5330722630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i | (OCP) 1 Ha9 Weaqol 191 el ¥ 0Tl g8 & 7
(A) T
(B) TR
(C) R
(D)  FRSEer
E) TR RE
e feu T foeredl & 9 T I = F
(1) F=a (A), (O) (B)

(2 FEE (A), (D)
(3) @ (B), (E), (O)
(4) FEE (A), (B), (C)

Question Number : 111 Question Id : 5330722631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are Dravida Style of Temples ?
(A) Brihadeshwara Temple, Thanjavur

(B) Meenakshi Temple, Madurai

(C) Virupaksha Temple, Hampi

(D) Mukteshvara Temple, Bhubaneshwar

(E) Suntemple, Modhera

Choose the correct answer from the options given below :
(1) (A), (B), () Only

(2 (B), (D), (E) Only

(3) (C), (D), (E) Only

(4) (), (O, (E) Only

Question Number : 111 Question Id : 5330722631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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zfae deft 3 Tfew Freafea 8 9 AR F #2
(A) Fecval "R, FSi
(B) el Wiy, WEE
(C) fazma weR, e
(D) HHRER A, aeer
€) ¥ Hf, we
e feu T foeredl & 9 T I = F
(1) = (A), (B), (O

(2) %= (B), (D), (E)
(3) @ (C), (D), (E)
(4) = (B), (C), (B)

Question Number : 112 Question Id : 5330722632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are Bhumija temple ?
(A) Udayeshvara Temple, Udaipur
(B) Ambarnath Temple, Kalyan
(C) Jamaleshvara Temple, Dhar
(D) Kumbh Shyam Temple, Chittaurgarh
Choose the correct answer from the options given below :
(1)  (B), (O, (D) Only
) (A), (B), (D) Only
(3) (A), (B), (C) Only
) (D), (B), (C) Only

Question Number : 112 Question Id : 5330722632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferefefiaa & sifiret wfew #1E 22

(A) Sedva Hiel, AR

(B) &A™ Wi, el

(C) SHTeer Hfgy, ©

(D) Fwem wfe, fadigmg

= feu v fawredl § 9 WE I F1 T FIfSU
(1) = (B), (C), (D)

(2) e (A), (B), (D)

(3) A (A), (B), (O)

(4) F= (D), (B), (O)

Question Number : 113 Question Id : 5330722633 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which among the following are Buddhist sites ?

(A) Kausambi

(B) Devnimori

(C) Udaigiri (Malwa)

(D) Sopara

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (B), (©), (D) Only

(3) (A), (B), (D) Only

4) (A), (©), (D) Only

Question Number : 113 Question Id : 5330722633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § & sg e € 2
(A) RIS

(B) <EmHRT

(C) ZeafTi (HweTen)

(D) EH™

Fr= fou o foredi § ¥ Wf SO F 9O FiE
(1) = (A), (B) 3R (Q)
(2) I (B), (C) IR (D)
(3) = (A), (B) ¥R (D)
(4) &FFE (A), (C) 3R (D)

Question Number : 114 Question Id : 5330722634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following inscriptions belong to Kushana Period ?
(A) Girdharpur Tila Inscripton

(B) Wardak Vase Relinquery

(C) Sui Vihari Copper Plate

(D) Gaya Copper Plate

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

() (D), (O) (B) Only

(3) (B), (D), (A) Only

4) (©), (B), (D) Only

Question Number : 114 Question Id : 5330722634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa § 9 #M w foerer Fm e I HJe6ftn 8
(A) TRaRgE Jien o

(B) e el i

(C) 4 fomr am o= o

(D) T A T AE

= feu o foeredi § ¥ W& SO F =9 I

(1) = (A), (B) 3R (Q)

(2) = (D), (C) ¥R (B)
(3) @@ (B), (D) 3 (A)
4) w=d (O), (B) ¥ (D)

Question Number : 115 Question Id : 5330722635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Asokan sites have an edict written in the Aramaic Script ?
(A) Gujjara

(B) Sam Baba Ridge

(C) Sultan-baba ridge

(D) Mansehra

(E) Kandahar

Choose the correct answer from the options given below :
(1) (O), (E) Only

@ (B), (O, (E) Only

(3) (A), (B), (D) Only

(4) (B), (C), Only

Question Number : 115 Question Id : 5330722635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafas & & forg o7eier Fers [ee W s fafa # fafaa T (Fm) T gg 872

(A) TS
(B) HHEm@EI T

(C) Year =ren 7T
(D) TR
(E) YR

e feu o foreredl & F T ST = A
(1) = (C), (E)

(2) 9 (B), (C), (E)
(3) = (A), (B), (D)
4) =d (B), (O)
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Question Number : 116 Question Id : 5330722636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Samudragupta emerges from the Prayag Prasasti as :

(A) Poet

(B) Compassionate

(C) Foresighted

(D) Military Personnel

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (A), (D), (B) Only

(3  (A), (©), (D) Only

(4) (B), (©) (D) Only

Question Number : 116 Question Id : 5330722636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR WeIfed | gyea a9 9 Weyd S ©

(A) Hfa
(B) FHurqg
(C) et
(D) H=r=e! (HfFH)

A few o faedl & & T I H T Hif
(1) = (A), (B), (O)
(2) W (A), (D), (B)
(3) @ (A), (), (D)
(4) =4 (B), (O), (D)

Question Number : 117 Question Id : 5330722637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which site there is an overlap between late Harappan and Ochre coloured pottery phase ?
(A) Abhichchtra and Jhunjhana

(B) Atranjikhera and Noh

(C) Saipai and Atranjikhera

(D) Baigaon and Ambakheri

(E) Bhaganpur and Alamgirpur

Choose the correct answer from the options given below :

(1) (A) Only

(2) (B) Only
(3) (C) and (E) Only
(4) (D) Only

Question Number : 117 Question Id : 5330722637 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

frfafeaa & & form quae § 37 TSR 3R 6T 9uiig geuie s1aeen & die JIe SAT9 Il S ¢ 7
(A) aAfess SR g

(B) ersiEel iR e

(C)  HI R ARSI

(D) aia 3R SHTEE

(B) AL TR ST

= feu o fawredi W | WE I F =TI FIfA0

(1) e (A)
(2) e (B)
(3) e (C) 3R (E)
(4) Fd (D)

Question Number : 118 Question Id : 5330722638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Donative Inscription in favour of religious establishment were inscribed on :

(A) Rocks
(B) Railings
(C) Pillars
(D) Walls
(E) Wells

Choose the correct answer from the options given below :
(1) (A), (©) Only
(2) (B), (D) Only
(3) (D), (E) Only
(4) (C), (E) Only

Question Number : 118 Question Id : 5330722638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eftfer TarTed o giasy SAfierg frefafas o 9 g w Scnivl & .

(A) ¥
(B) e
(C) W9
(D) R
(E) Fd

e feu o foreredl & 9 T ST F = FE
(1) FA (A), (©

(2) = (B), (D)
(3) @ (D), (E)
(4) == (O), (E)

Question Number : 119 Question Id : 5330722639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Indentity iron ores :

(A) Hematite

(B) Auzarite

(C) Fayatite

(D) Limonite

Choose the correct answer from the options given below :
(1) (A), (B), (O) Only

(@) (A), (), (D) Only

(3) (B), (C), (D) Only

(4)  (A), (B), (D) Only

Question Number : 119 Question Id : 5330722639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wie 3Tk FI TeaH #1 :
(A) THERS
(B) 3TSNIEE
(C) FARTEE
(D) TowFREe

= feu U faeredi # § W& ST & =94 FI9T
(1) e (A), (B) 3R (C)

(2) A (A), (C) 3R (D)
(3) F@ (B), (C) 3 (D)
(4) FaA (A), (B) &R (D)

Question Number : 120 Question Id : 5330722640 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which books were written by Sir Alexander Cunningham ?
(A) Corpus Inscriptionum Indicarum

(B) The Archaeology of India

(C) Ancient Geography of India

(D) Coins of Ancient India

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

2 (), (©) (D) Only

() (A) (©), (D) Only

4)  (A). (B), (D) Only

Question Number : 120 Question Id : 5330722640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST ST HIEH 7 HIA Y qeaah foraf €2
(A) 99 sHlFeE sfewim

(B) T eTfHAmGTSH M Ifea

(C) Tferawe fSammeT eTh sfean

(D) FEEY &% e

= fou U foepedi @ | W& IO 1 99 HI9T
(1) = (A), (B) (C)

(2) = (B), (C), (D)
(3) A (A), (O), (D)
(4) =E (A), (B), (D)

Question Number : 121 Question Id : 5330722641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The proper techniques used for sub surface detection of archaeological evidences are :
(A) Use of prabe-like augurs or rods

(B) Mapping
(C) Seismic and Acaustic Methods
(D) Gridding

(E) Electromagnetic methods

Choose the correct answer from the options given below :
(1) (D), (B), (E) Only

(2)  (A), (B), (D) Only

3)  (A), (©), (E) Only

4 (B), (O), (D) Only

Question Number : 121 Question Id : 5330722641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA Gl 1 39-Tag F I @ F (Hger) foe ayfea wmieeEt €
(A) S (3FR) 91 TS AT = TRl 1 FHT

(B) AR
(C) st 3T waf4es fafy
(D) fafgm

(E) Towgaerasia fafy
e feu o foreredl & 9 T ST F = FE
(1) = (D), (B), (E)

(2) = (A), (B), (D)
(3) = (A), (O), (E)
(4) *=E (B), (), (D)

Question Number : 122 Question Id : 5330722642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Post processualism is a collecting term which have root in the post modernist current of thought.
Opine on a method/ approach :

(A) Neo - Marxist

(B) Post- Positivist

(C) Neo - revolutionary

(D) Cultural Materialist

(E) Phenomenological

Choose the correct answer from the options given below :
(1) (B), (©), (B) Only

@ (C), (A), (E) Only

() (A), (B), (E) Only

(4) (8), (D), (C) Only

Question Number : 122 Question Id : 5330722642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR WRATIR U Afesk v © fome gom frefafas 4 4 few fafu/sorm ded s@-snyfe faam
TaTe o gaeH & o fea s

(A) A - AEEaE
(B) SR - WeHeTEd
(C) 9 — shifdeprl

(D) wiEkfaF sifaran

(B) Hefamet

e feu o famedi § | WE I F =TI FIfAU
(1) =d (E), (O), (B)

(2) &=@ (Q), (A), (E)

(3) = (A), (B), (E)

(4) e (B), (D), (O)

)
)

Question Number : 123 Question Id : 5330722643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Asoka’s policy of Dhamma as recorded in his XIII Rock Edict talks about :
(A) His remorse on the defeat of Kalinga

(B) Political Centrality

(C) Trading connections

(D) Religions tolerance

(E) Righteous behaviour

Choose the correct answer from the options given below :

(1) (B), (O), (D) Only

() (A), (D). (E) Only

(3) (O), (D), (E) Only

(4)  (A), (O), (E) Only

Question Number : 123 Question Id : 5330722643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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39Tk o feTeiiehrol iy X1 % ST9R 379 o o i Hifq H 3o © :
(A) KT JUSTH 9L SHRT I

(B) Tetfaes fsera

(C) =AIdeR Hae

(D)  ®f¥ie Wfewa

(E) W™= HER

= feu o faskedi § | W& I T2 FIfAT

(1) F=d (B), (C), (D)

(2) = (A), (D), (B)
(3) @ (C), (D), (E)
4) == (A), (), (E)

Question Number : 124 Question Id : 5330722644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cannot be considered as donative inscription ?
(A) Monastic Sealings

(B) Copper Plates

(C) Eulogies

(D) Edicts

(E) Image inscriptions

Choose the correct answer from the options given below :

(1) (A), ), (D) Only

@ (B (A) (E) Only

(3) (A), (B), (E) Only

(4) (O, (D), (E) Only

Question Number : 124 Question Id : 5330722644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freifoRa ® & ToR9 S Stfiera =& A ST 9ehdl & 7
(A) wfaugsF Hgihd
(B) dmHqfeZeRTq

(C) waifear
(D) “HieH
() Hfd e

e feu o foreredl & 9 T ST F = FE
(1) = (A), (O), (D)

(2) 9 (B), (A), (E)
(3) @ (A), (B), (E)
4) == (O), (D). (E)

Question Number : 125 Question Id : 5330722645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Solar symbol depicted on the imperial series of punch-marked coins might reflect :
(A) Political supremacy

(B) Religious belief

(C) Cultural linkage

(D) Trade

(E) Sacred descent

Choose the correct answer from the options given below :

(1) (B), (D), (E) Only

(2)  (A), (B), (D) Only
(3)  (A), (B), (E) Only
) (A), (Q), (D) Only

Question Number : 125 Question Id : 5330722645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 76/97



8/22/24, 11:49 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
atred (7= " ) faeki ot IRt JEen W fafra 9R g feiea i gfafefaa w6 €2
(A) TeHfaeE g

(B) wIfHe Tavary
(C) WIEHiaH AT
(D) =AMUR

(E) e SFeaor (Seig Sear)
e feu o foreredl & 9 T ST F = FE
(1) =4 (B), (D), (E)

(2) = (A), (B), (D)
(3) @ (A), (B), (E)
4) = (A), (O, (D)

Question Number : 126 Question Id : 5330722646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - 1 List - II
Coin Emblem Dynasty
(A) Bull (I) Pallavas
(B) Lion (I1)  Cholas
(C) Fish (ITll) Pandyas
(D) Tiger (IV) Chalukyas

Choose the correct answer from the options given below :
(1) (A)-(1), (B)-(IV), (C)-(1), (D)-(1I)

2 (AHD, BR(IV), (C)-(IT), (D))
(3)  (A)-(), (B)-(II), (O)-(IT), (D)-(IV)
(4)  (A)-(IV), (B)-(D), (C)-(II), (D)-(1D)

Question Number : 126 Question Id : 5330722646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 TEt-11
faaent o uds TSI
(A) T (F9Y) O oo
(B) I (I =
(©) we (T wEy
(D) = (Iv) =rgH

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1m), (B)-(IV), (C)(I), (D)-(IT)
(2) (A1), (B}(IV), (C)-(II), (D)-(I1L)
(3)  (A)-(), (B)R-(L), (O)-(L), (D)-(IV)
(4)  (A)-(1V), (B)~(I), (C)-(LLL), (D)-(IT)

Question Number : 127 Question Id : 5330722647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
Books Authors

(A) The Ancient Indus Civilization : (I) Ghosh A
New Perspective

(B) The Ancient Indus (II) Possehl G

(C) The Indus Civilization : its Origin (IlI) Macintosh J.R

(D) The Indus Civilization : (IV) Rita Wright

A comtemporary Perspective

Choose the correct answer from the options given below :

(L) (A1), (B-(II), (O-(IV), (D)-(I)

2 (A)-(I), (B)-(IV), (O(D), (D)-(1ID)
()  (A)-(1D), (B)-(D), (O)-(T), (D)-(IV)
@) (A)-(), (B)-(II), (OF(ID), (D)-(IV)

Question Number : 127 Question Id : 5330722647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 TEt-11
q&Teh [GRECT
(A) < ufwuz seq fofaessem = wifea () WmWT
(B) < UfwUZzEH (I orée S,

(C) = Ted fafaamrsivd: 328 «Aiffs (I) AFT=ZIA R
(D) < 3=¥ fafaemssyd: T =l gEufed (1v) e 122

= fou U fasred § 9 W& I A T FHIC

(1) (A1), (B)-(II), (C)-(IV), (D)-(IT)

(2) (A, (B)«IV), (OD), (D)-(I)

)
(3) (A1), (B)-(0), (O)-(1), (D)-(IV)
@) (AL, (By-(II), (CO-(I), (D)-(IV)

Question Number : 128 Question Id : 5330722648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
Branches Pioneers
(A) Environmental Archaeology (I) Conkey & Joan Gero
(B) Settlement Archaeology (I)  Walter Fewkes
(€) Ethno Archaeology (II) Gerhard Besru
(D) Gender Archaeology (IV) Karl Butzor

Choose the correct answer from the options given below :
(1)  (A)-(), (B)-(IV), (O)-(1L), (D)-(I)
(2 (A)-(D), (B)-(ID), (O)-(IID), (D)-(1V)
(3)  (A)-(IV), (B)-(IIL), (C)~(), (D)-(I)
(4)  (A)-(1D), (B)-(IID), (C)-1), (D)-(IV)

Question Number : 128 Question Id : 5330722648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 THt-11
b)) quTar
(A) vEfEiE e () =ik AR Fiem T
(B) ol YUdcafas (I) areed T
(C) Fefa quacfasT (1) TR SEE
(D) SET qUaEtaTH (IV) e SR

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1m), (B)-(IV), (O)(11), (D)-(I)
(2)  (A)(D), (By(I), (C)-(ILI), (D)-(IV)
(3)  (A)-(IV), (B)-(ILI), (O)(1T), (D)-(I)
4)  (A)-(1D), (B)-(11L), (O)-(1), (D)-(1V)

Question Number : 129 Question Id : 5330722649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
Archaeological Sites Regions
(A) Bagasara (I)  Rajasthan
(B) Balakot (II)  Jammu and Kashmir
(€) Manda (III) Gujarat
(D) Kalibangan (IV) Somani Bay, Pakistan

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(1L), (C)-(I), (D)-(I)
(2) (A, (B)-(L), (C)-(II), (D)-(1V)
(3)  (A)(IV), (B)-(I), (C)-(IIT), (D)-(I)
(4)  (A)-(ID), (B)-(IV), (O)-(1I), (D)-(I)

Question Number : 129 Question Id : 5330722649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
geit-1 -1
TR E]
(A) ERTEY 0  TsEEH
(B) WICTRRIZ (II) =7 37T FIHR
() wr= (L) TS
(D) HIEHETH (IV) HWHT e, i

= feu o fawedi § 9 Qe 3T 1 994 FIf90
(1) (A)-(1V), (B)-(11), (O)-(), (D)-(11)
(2)  (A)-(I), (B)~(I), (OHID), (D)-(IV)
(3)  (A)-(IV), (B)-(I), (C)-(LI), (D)-(II)
4)  (A)-(II), (B)-(IV), (O)-(1D), (D)~(I)

Question Number : 130 Question Id : 5330722650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
Sites Features
(A) Baulder Conglomerate Soan Valley (I)  Rock Art
(B) Bhimbetka (I)  Second Glacial Phase
(€) Topikal (III) Earliest date of domestic variety of rice in India
(D) Lahuradeva (IV) Megaliths

Choose the correct answer from the options given below :

(1) (A-D, (B)-(IV), (C)-(ILD), (D)-(IN)

() (AHIV), (B)-(D), (C)-(11), (D)-I1I)
(3)  (A)-(ID), (B)-(D), (O)-(IV), (D))
(4)  (A)), (B)-(1V), (O)-(1), (D)-(1)

Question Number : 130 Question Id : 5330722650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
Teil-1 -1
TRTREIET AT ATH fergrear
(A) afe-FHiTamE (ifew) 9H == () S feseren
(B) ez (I fedra fen sEwen
(C) dfussra (II) WRA ¥ =7 i =i fohen 1 sthiqan |ieg
(D) ©EeE (IV) HETaTST

= feu 7o fawedi § 9 Qe I 1 994 FIf90
(1) (A)(D), (B)}-(IV), (C)-(111), (D)~(I)
(2)  (A)-(IV), (B)-(IID), (C)-(1D), (D)-(I)
(3)  (A)-(I), (B)-(1), (O)-(IV), (D)~(1II)
4)  (A)-(II), (B)-(IV), (O)~(1), (D)~(1)

Question Number : 131 Question Id : 5330722651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

Cultural Complexes Characteristic features
(A) Madras Industry (I)  Daojali Hading Neolithic
(B) Naikund complex (II) Brahmagiri Stratigraphy
(C) Cord marked pottery assembloge (IIf) Acheulean Industry
(D) Wheeler's Methods (IV) Iron Smelting

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(11L), (C)-(1D), (D)-(I)
(2) (A, (B)-(IV), (O)-(I), (D)-(IT)
(3) (A1), (B)-(T), (O)«(IV), (D))
(4)  (A)-(ID), (B)-(I), (O)-(II), (D)-(1V)

Question Number : 131 Question Id : 5330722651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
i1 He-11
(A) W= T () <reTeTel efeT TeamaTori
(B) “Fve ®img (I) SR &Ry fagm
(C) Toeiferd gevie Hug (III) Tege =
(D) =R # fafy (IV) e JTeH

= feu 7o fawedi § 9 Qe 3T 1 999 FHif9
(1) (A)-(1V), (B)-(11I), (C)~(1L), (D)-(I)
(2) (A, (B)-(IV), (O)«(I), (D)}(ID)
(3)  (A)-(ID), (B)-(1), (C)-(IV), (D)-(1II)
(4) (A1), (B)~(I), (C)-(ID), (D)~(IV)

Question Number : 132 Question Id : 5330722652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

Cultural Complex and Features Locations and site type
(A) Pit - dwelling (I)  Evolved Soan Industry
(B) Sarai Nahar Rai (I  North east India
(C) Upper Pleistocene (II) Mesolithic
(D) Living Megalithic Culture (IV) Burzahom

Choose the correct answer from the options given below :
(1)  (A)-(I), (B)-(IV), (O)-(1L), (D)-(I)
(2) (A, (B)-(L), (C-(IV), (D)-(IT)
(3) (A1), (B)-(IV), (O)-(T), (D)~{II)
(4)  (A)(IV), (B)-(IIL), (C)-(I), (D)-(II)

Question Number : 132 Question Id : 5330722652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
THt-1
withfae aftmgr ofiv fagroar

Tiard

(B) HE AR A

(C) IR =EEEH

(D) i wemT HEhfd

(A)

g28.digialm.com/CAE/viewHtmIPDFAction.action

HE-11
T 3T AT WehTT
() SEfaswfad |§H =M
(I) e R

(Il) HEAAYTIOTETA

(1V) Feam

= feu 7o fawedi § 9 Qe 3T 1 999 FHif9

(1) (A, (B)1V), (C)-(1), (D)-(1)
(2) (A, (B)AI), (O-IV), (D)D)
(3) (A1), (B)-(IV), (O)-(1), (D)-(I1)
(4)  (AHIV), (B)-(II), (C)(1), (D))

Question Number : 133 Question Id : 5330722653 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1

Excavators
(A) Prof. K. Paddayya (I)
(B) Prof. M.L.K. Murthy (I1)
(C) Prof. T.C. Sharma (111)
(D) Prof. V.N. Mishra (IV)

List - II

Sites excavated
Daijoli Hading
Budihal
Balathal

Kurnool Caves

Choose the correct answer from the options given below :

(1) A1), (B)-(IV), (C)-(1), (D)-IL)
(2)  (A)Im), (B)-D), (O-(I), (D)-(1V)
() (A)-(IV), (B)-(1I), (C)-(1), (D)-(I)
4) (A1), (B)-(11), (©)-(), (D)-(V)

Question Number : 133 Question Id : 5330722653 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
-1 -1
SRETIRAl T T SeEfd Qe &1 AW
(A) L. TEA (I) Srsfrsrer efem
(B) WuATE. ¥ Hfd (1) dfeea
(C) WA v (1) STensd
(D) W& . figa (IV) FA-TTHET

= feu o fawedi § 9 Qe 3T 1 994 FIf90
(1) (A)-(1D), (B)-(IV), (O)-(), (D)~(11)
(2)  (A)-(I), (B)~(I), (OHID), (D)-(IV)
(3)  (A)-(IV), (B)-(III), (C)~(1), (D)-(II)
4) (A1), (B)-(LD, (C)-(D), (D)-(IV)

Question Number : 134 Question Id : 5330722654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
Prehistoric Cultures Countries located
(A) Soanian ()  Myanmar
(B) Chaukoutien (II)  North China
(€) Anyathian (III) Java
(D) Patjitanian (IV) North India

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(ILL), (C)-(IV), (D)-(II)
(2 A)-(IV), (B)-(I), (C)-(I), (D)-(II)
(3)  (A)(IV), (B)-(IT), (C)-(T), (D))
(4) (A1), (B)-(IV), (O)-(I), (D)-(IM)

Question Number : 134 Question Id : 5330722654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
-1 Tel-11
it et srafiera o
(A) HifE O R
(B) HeifeTd (I) IR =HH
(C) sfHrfeE (IIT) iren
(D) Yasiaa= (IV) 3T 9Rd

= feu o fawedi § 9 Qe I 1 994 FHIf9
(1) (A)-(D), (B)-(II), (COF(1V), (D)-(I)
(2)  (A)-(IV), (B)-(D), (C)-(1I), (D)~(II)
(3)  (A)-(IV), (B)-(II), (C)-(I), (D)~(11I)
(4) (A1), (B)-(IV), (O)-(1), (D)-(111)

Question Number : 135 Question Id : 5330722655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
Site Excavator
(A) Tamluk (I) K.M. Srivastava
(B) Rajghat (I1)  G.R. Sharma
(C) Kausambi (III) A.K. Narain
(D) Ganwaria (IV) ML.N. Deshpande

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(ILL), (C)-(1I), (D)-(I)
(2) (A1), (B)-(IV), (O)-([0), (D)-(11)
(3)  (A)-(I), (B)-(IV), (C)-(1D), (D)-(I)
(4)  (A)-D), (B)-(ID), (O)-IV), (D)-(II)

Question Number : 135 Question Id : 5330722655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teit-1 TeT-11
EUESE] EscRECTIl
(A) THIE () . TH.gemEad
(B) TSR (I1) .= 9w
(C)  ehtemsit (III) W3k, A
(D) TTHETRET (IV) TH.TA. S9qUe

= feu 7o fawedi § 9 Qe 3T 1 999 FHif9
(1) (A)-(1V), (B)-(11I), (C)~(1L), (D)-(I)
(2) (A, (B)-(IV), (CO)-(1), (D)~(1I)
(3)  (A)-(II), (B)-(IV), (C)-(L), (D)-(I)
4)  (A)-(D, (B)}-(11), (O)-(1V), (D)~(1LI)

Question Number : 136 Question Id : 5330722656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

Mahajanapada Capital
(A) Avant (I) Kushinara
(B) Kasi (II) Champa
(C) Malla (IlIy Mahismati
(D) Anga (IV) Varanasi

Choose the correct answer from the options given below :
(1) (A1, (B)-1), (O-1V), (D))
(2) (A1), (B)-(IV), (O)-(1D, (D)-(1)
(3)  (A)-(II), (B)-(1D), (C)-(1), (D)-(IV)
(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Question Number : 136 Question Id : 5330722656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
A1 Tet-11
RIS AT
(A) erefd O FE
(B) TRl (I =@
(C) wHed (1) wTfEsr
(D) & (IV) SR

= feu o fawedi § 9 Qe 3T 1 994 FHif9U
(1) (A1), (B)-(1), (O)-(1V), (D)-(11)
(2) (A, (B)-(1V), (O)-ID), (D)~(I)
(3)  (A)-(ID), (B)-(D), (C)-(D), (D)-(IV)
4)  (A)-(II), (B)-(IV), (O)~(1), (D)~(1)

Question Number : 137 Question Id : 5330722657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - II

Author Catalogue
(A) John Allen (Iy Catalogue of the Museum of Archaeology at Sarnath
(B) AS. Altekar (I) Catalogue of the Indian Coins in the British Museum
(C) Daya Ram Sahni (ITlI) Catalogue of the Gupta Coins in the Bayana Hoard
(D) E.J. Rapson (IV) Catalogue of the Coins of Ancient India

Choose the correct answer from the options given below :

(1) AHIV), (B-(1D), (C)-(1), (D))

(2 (AHIV), (B)-(D), (C)-(I1), (D)-(1)
(3)  (A)-(), (B)(I1), (©)-(), (D)-(V)
4)  (A)-(IV), (B)-(IL), (O)-(D), (D)-(1D)

Question Number : 137 Question Id : 5330722657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heft-1 9 gE-11 =1 frem wifs;

geit-1 Tel-11

T e (uHE)
(A) <F U (1) Shedn 3AT% T Hforay 3iE sfifhararsn T2 9
(B) TUH. STeeht (Il) e AF g e FEg = T fofew oy
(C) = TH |l (L) FeANT SATF T A FHEH g 99 Bl
(D) 3. ToEA (IV) SheE 311 g s AATH ferEe sfuee

= feu o fawedi § 9 Qe 3T 1 994 FIf90
(1) (A)-(1V), (B)-(11), (O)-(), (D)~(11)
(2)  (A)-(IV), (B)-(D), (C)-(1I), (D)~(II)
(3)  (A)-(II), (B)-(ID, (C)-(D), (D)-(IV)
(4)  (A)-(1V), (B)-(IL), (C)~(1), (D)-(IT)

Question Number : 138 Question Id : 5330722658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I

Authors Books
(A) A.K. Coomarswamy (I) The Ideals of Indian Art
(B) Stella Krammnich () The Art of India Through the Ages
(C) E.B. Havell (III) The Transformation of Nature in Art
(D) V.S. Agrawal (IV) Studies in Indian Art

Choose the correct answer from the options given below :
(1) (A)-(II), (B)-(ID), (C)-1), (D)-(IV)
(2 (A1), (B)-(1), (O)-(I), (D)-(1V)
() (A)-(I), (B)-(ILL), (C)-(L), (D)-(IV)
(4)  (A)(IV), (B)-(1I), (C)-(ILD), (D)-(I)

Question Number : 138 Question Id : 5330722658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
-1 Tet-11
[GECET Tl
(A) R FHTEH () = sefeaey #Aiw e =@
(B) T A () T AR % fean 91 3 ue
(C) 33 T (L) T ZTFREEIA F T2 37 7
(D) @.TH. YA (IV) Ersl &1 sfead e

= feu o fawedi § 9 Qe 3T 1 994 FIf90
(1) (A)-(), (B)-(1D), (C)-(D), (D)-(IV)
(2) (A1), (B)-(1), (O)-(11D), (D)-(IV)
(3)  (A)-(D), (B)-(HI), (C)-(ID), (D)-(IV)
(4)  (A)1V), (B)~(ID), (O)-(ILL), (D)-(I)

Question Number : 139 Question Id : 5330722659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
Temples Sites

(A) Chenna Keshava Temple (I)  Aihole

(B) Devi Jagadamba Temple (I)  Belur

(€) Ravana - Phadi Cave Temple (II) Khajuraho

(D) Anantha Vasudeva Temple (IV) Bhubaneshwar

Choose the correct answer from the options given below :
(1) (A1, (B)-1), (O-(m), (D)-(IV)
(2 (A)-D), (B)-(ID), (O)-(IV), (D)-(I)
(3)  (A)-(II), (B)-(1D), (C)-(I), (D)-(IV)
(4)  (A)(IV), (B)-(1I), (C)-(ILD), (D)-(I)

Question Number : 139 Question Id : 5330722659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
-1 Tet-11
HfeT T
(A) =T HIE TR () aTEer
(B) <o STeTan HigT () ¥R
(©) Ve T Hi (III) el

(D) o arged Hie (IV) e ¥R
= feu e faspedi § H W IR FE9 FIfAC

(1) (A1), B)-(1), (O)-(11I), (D)-(IV)

() (A, (B)-(I), (O)-(1V), (D)-(10I)

(3) (A1), (B)-(IL1), (O)-(1), (D)-(IV)

) (A)-1V), (B)-(ID), (C)~(I0), (D)-(1)

Question Number : 140 Question Id : 5330722660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
Inscriptions Rulers
(A) Garha Inscription (I) Pulumavi
(B) Nagarjunikonda Inscription (II) Budhagupta
(€) Myakadoni Inscription (III) Rudrasena I
(D) Damodarpur Inscription (IV) Virapurusadatta

Choose the correct answer from the options given below :
(D) (A)HLV), (B)-(D), (C)-(ILD), (D)-(I)
(2 @A), (B)-(IV), (C)-(I), (D)-(I)
(3)  (A)-(I), (B)-(IV), (O)-(I), (D)-(II)
(4)  (A)-(1D), (B)-(IID), (C)-AV), (D)-(I)

Question Number : 140 Question Id : 5330722660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Heit-1 9 gEi-11 =1 frem wifs;
-1 Tet-11

(arfurerE ) (IITHE )
(A) T foreera ) e
(B) TSRSl freerE (1) T
(C) TamEr forerera () &= 1
(D) TR feemea (IV) =Hgeue
= feu o fosredi & | W& I & =T HGT
(1) (A)-1V), (B)(I), (C)-(IL), (D)-(I)
@) (A, (BHIV), (C)-(II), (D)-(I)
(3)  (A)-(II), (B)-(IV), (OD), (D)-(I)
(4)  (A)-(ID), (B)-(ID), (C)-(1V), (D)-(I)

Sub-Section Number : 2
Sub-Section Id : 533072107
Question Shuffling Allowed : No

Question Id : 5330722661 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the paragraph given below and answer the Questions.
Copper Hoards and the OCP culture :

Since the beginning of the Nineteenth century CE, copper objects were found in groups of several
pieces, at a number of sites in the Indo-Gangetic Divide (Punjab, Harayana and Northeast Rajasthan)
and the Ganga-Yamuna Doab. Because of their discovery in groups they have come to be known as
Copper Hoards. Almostinall cases they have been found outside habitation and as accidental discoveries
during operation like ploughing, and canal digging. The hoard comprises of a variety of objects like flat
axes with splayed sides and convex cutting edges, shouldered axes, bar celts, double-edged axes,
anthropomorphic figures, harpoons with barbed and rugged holes, hooked spear-heads, antenna hilted
swords and rings.

Sub questions

Question Number : 141 Question Id : 5330722662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is copper hoard ?

(1) Antiquity found in groups

(2) Copper objects of the pre-historic period

(3) Flat axes, shouldered axes, bar celts etc of copper found in groups

(4) A copper object

Question Number : 142 Question Id : 5330722663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Copper hoards consists of :
(1) Harpoons

(2) Needles
(3) Antennae hilted swords
(4) Adzes

Question Number : 143 Question Id : 5330722664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the landforms comprising the Ganga-Yamuna doab ?
(1) Active floodplain, meander floodplain, cover floodplain
)
(3) Law hills, river terraces, valleys

(4) Abandmed river beds, dried channels, river banks

Plateau, foothills, dissected slopes

Question Number : 144 Question Id : 5330722665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the type of cutting edges commonly found in the copper hoard flat axes ?
(1) Concave

(2) Rounded
(3) Curved
(4) Convex

Question Number : 145 Question Id : 5330722666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When were the copper hoards reported in Indian Archaeology ?
(1) 18™" Century
(2) End of 20t Century

(3) Middle of 19% Century
(4) Beginning of 19™" Century

Question Id : 5330722661 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Frfafaa wenor @t ufen it a9 dafem o & sw dsf
AW W AT o Wt Weanta
TGS T ok A § ARSI favrse (e, gREmn SR Su-ge TsEeE) a9 v- A ietE §
3R] QRIS T ST @el § Ty axqe arEt 8 off | weEl # St @i o &R o @ fafy (i dred) amd
s €1 euT gt "reel H 9 STEd o 98l U T € 91 8 welH, Tel Wk el §iRaisdl % SR SR feaeh
Y TR G g | T9T T gorEl e 9T 99 FeR SN FEaret SEa HR, T FOR, U8 Joe gurt
FIR, TEfTEF ATFTTAT Fiear 3R TS foyared g€t ghar 9, T Tegr Far0 3R o) Je9 J%qu wiHe of |

Sub questions

Question Number : 141 Question Id : 5330722662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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am fafy (TR BE) FME?

(1) §E H o1t Qe

(2) wiifaerfae w5 i aHaEy
(3) R H U 9T 1 F92l FSR Thivager, gUe Hee A |
(4) |

Question Number : 142 Question Id : 5330722663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIR gy (amw fafy) & ofie 2
(1) IR TSt

Question Number : 143 Question Id : 5330722664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

M-I SreTE H e - WY S 9§72

(1) fEFa 9 % ieH, 9% F HgM, 2T=s1fed a1g % fHeH
) R, fufrdie, fa=sfea e

(3) Trae vefedr 1< wiftes, o=
) R e 9, I 99, T8 W

Question Number : 144 Question Id : 5330722665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ag ff (TR 2E) =921 For H FrErE: T S arel FR H FE H WEE B AT

(1) o=[d
(2) =qa
(3) afera
(4) FOd

Question Number : 145 Question Id : 5330722666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR quac fagr o am fafy (F 3) = e wad faer g2

(1) 18 yramsl &

(2) 20 H&TF T H

(3) 19% TE F WA H

(4) 19% W&l F WY F
Sub-Section Number : 3
Sub-Section Id : 533072108
Question Shuffling Allowed : No
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Question Id : 5330722667 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions.

The Gupta age was marked by an unprecedented intellectual ferments and creative upsurge in all
branches of arts and letters. Hitherto, temples were largely made of hmber or other perishable material.
The potentiality of dressed stone was for the first time appreciated during the Gupta period which
ushered in an age of temple construction that was characterized by a more reasoned application of
structural principles. Under the impact of the bhakticult or worship of the personal god, which had
taken deep root and permeated all the sects and sections of society, temples were built in fair number for
the installation and wnrship of pnpular deities like Vishnu, Shiva, Skanda and Buddha th_mughnut
Northern and Central India and Deccan of which a handful have survived. The ritual of the worship
requi_red basica_l_ly a sanctum for the deily and a shelter for the worshipper, which were logically pmvidecl

in the Gupta shrine.

Sub questions

Question Number : 146 Question Id : 5330722668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the fD]_lDwing temples of the Gupta perind falls under first group with square and

flat-roofed sanctum and is the first structural temple of the period ?
(1) Shiva Temple, Bhumara

(2) Sanchi Temple no. 17, Sanchi

(3) Parvati Temple, Nachana Kuthara

(4) Vaital Devi Temple, Bhubaneshwar

Question Number : 147 Question Id : 5330722669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the following Gupta temple, which temple gives the first indications of the vertical

elaboration which culminated in the magnificent sikharas of later temples ?
(1) Dashavatar Temple, Deogarh

@)
(3) Parvati Temple, Nachna Kuthara
(4) Temple of Vishnu, Eran

Brick Temple, Bhitargaon

Question Number : 148 Question Id : 5330722670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Buddhist School of Art developed during the Gupta Period ?
(1) Vallabhi School of Art

(2) Tigwa School of Art

(3) Bairat School of Art

(4) Sarnath School of Art

Question Number : 149 Question Id : 5330722671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The famous terracotta images of Ganga and Yamuna has been found from :
(1) Kaushambi

(2) Ahichchhatra

(3) Sarnath

(4) Mathura

Question Number : 150 Question Id : 5330722672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who composed the Prayag-Prashasti inscription of Samudragupta written in Champu Kavya
Style ?
(1) Virasena

(2) Harisena
(3) Ashvasena
(4) Mitrasena

Question Id : 5330722667 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Frefefias meriy @t ufew it sad gafus wwat & see i

T FIE 1 A A9 0§ FF 39 Fa H Fen SR wifecd F wefi armied | sifge JuM SR gsEHs
Fod o1 THefae SAqeafea &9 9 g1 911 &9 Tk Higy 1 FHi e A aehel (forr) wd o= e
a1 T BT o1 | el | Y el H & aUH U Teer i &7HAT TR qea @i T foHeh weraey Higy fEi g
1 YR g1 Toraent fadvar 718 <t for soi dammens fagidl 1 ot sifves Sfgmargee gam foa man ) i
HYETT S1e7E I 3 i SUIGHI 1 e Sl 9gd A4 AT o e of S HErSt & Teft gell o) ot | st
Tl ST S e o, Tt ufitofa o w9 § fawy, fore, whe ot 95 S @refua <di i gid v o) e
FUHAT GHET I &I 7S R q SFhA | 2 ol f50 | o Ufeamd & 7o | € | 3R 3 RS T
TeAd: <o 1 TS TN S 94T U o fIu sTigr Sqeed ol STl S7aeds o 3 aifdhes €9 | 7o Soerd
H 39 9 |

Sub questions

Question Number : 146 Question Id : 5330722668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § & T e &% F4 § Hiet iER 2R g B9 a5 TR SR e WEd & A F
TH HE % Sfaiia o €

(1) o e, sy,

(2) ®r Hfer €, 17, |t

(3) et Hfew, e HIw

(4) oare get gL, YR

Question Number : 147 Question Id : 5330722669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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reifera Teaerrei Hied # 9§ forg wifer ¥ 3wamr =ame = gum gfaequ (HFd) e & faas woasy
e Higdl # e forad o1 fmior gen ?
(1) TR wfew, Same

() Zfes fafifa dfer, drawa

(3) redl \few, A= Few

(4) oo A, T
Question Number : 148 Question Id : 5330722670 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

T FIA § g GUer % T FHen ur o faskr gan ?
(1) aeasft el 9

(2) e wen g
(3) ST FHAT ¥R
(4)  ETE AT {1

Question Number : 149 Question Id : 5330722671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T SR T T ufes gumfaal Fel § W g ¥ 2

(1)  Rremea
(2) e
(3) W™
(4) #HYU

Question Number : 150 Question Id : 5330722672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR 1 AW gt St o =g e el ° €, F w=e fee a6 2

(1) =&
(2) efREe
(3) &Fvagd
(4) TEEa
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